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Chapter 1. Term 1



1.1. The historical development of money*



ECONOMIC AND MANAGEMENT SCIENCES



 
        
      

Grade 8



 
        
      

THE ECONOMIC CYCLE



 
        
      

Module 1



 
        
      

THE HISTORICAL DEVELOPMENT OF CURRENCY/MONEY



ASSESSMENT STANDARD 1.1: 



 
          
        

THE HISTORICAL DEVELOPMENT OF CURRENCY/MONEY



 When you have completed this MODULE, YOU WILL BE ABLE TO DESCRIBE THE HISTORICAL DEVELOPMENT OF CURRENCY AND THE ROLE THAT IT PLAYS IN SOCIETIES AND THEIR ECONOMY.
 The economic life of nations shows clear phases of development. The first of these development phases is always represented as the SELF-SUFFICIENT stage. The most characteristic feature of the self-provident phase is SUBSISTENCE ECONOMY, in which each family or person produces enough to provide in their own needs. The individual or family practised PRIMITIVE AGRICULTURE, which produced enough for his/their own needs. The self-provident stage therefore did not need barter, or a medium of exchange, because production did NOT result in ANY SURPLUS. The economy / family had no need for a MEDIUM OF EXHANGE or CURRENCY / MONEY as we know it.

Activity 1



 SUBSISTENCE ECONOMY
 GROUP: 
 Your group has survived the accident that forced the aeroplane in which you were travelling to crash down on a remote island. Having regained consciousness, you find that the wreck of the aeroplane was destroyed in an explosion after the disaster. The island is small and has a relatively high rainfall.
 HOW WILL YOU GO ABOUT TO PROVIDE IN YOUR NEEDS IN ORDER TO ENSURE SURVIVAL? (Suggestion: Begin by determining what your immediate needs are). (Submit a brief list.)
 GROUPS: 
 Try to identify the characteristic features of an economic situation in which you have to be self-sufficient.
 During the next phase of economic development, which is characterised by SPECIALISATION, SURPLUSES AND EXCHANGE, communities/families produced sufficient products to have surpluses that they could exchange for other products that they needed. 
 EXAMPLE: 
 John, being skilled in making garments from animal pelts, was able to concentrate on doing that (i.e. he SPECIALISED in the production of clothing) and could use the extra garments that he did not need himself (SURPLUS) to engage in EXCHANGE for Peter’s SURPLUS of flour and related wheat products. This is how the first MARKETS, where BUYERS and SELLERS “met” and exchanged their SURPLUSES, came into being.

Activity 2



 SPECIALISATION
 SELF:
 Design and build a model of a house, using stiff paper or cardboard, according to your own ideas.

Activity 3



 SPECIALISATION AND DIVISION OF LABOUR
 GROUP:
 Design and build a model of a house, using stiff paper or cardboard, according to your own ideas. For this exercise, the planning and building of different component parts of the house must be delegated to different members of the group. One might be responsible for the roof, another for the walls, a third for the general framework, etc. 
 (Note: The different parts will have to be fitted together to form a whole.)
 GROUP:
 Compile a list of advantages and disadvantages of specialisation as encountered in this group work exercise.
Table 1.1. 	
                  ADVANTAGES OF SPECIALISATION
                	
                  DISADVANTAGES OF SPECIALISATION
                
	1.	1.
	2.	2.
	3.	3.
	4.	4.


 The following shortcomings had to be reckoned with to allow for TRADE BY EXCHANGE/BARTERING:
 It was necessary to find someone with a congruent need before exchange could take place;
 sufficient products had to be available for exchange;
 the products needed to be able to be divided;
 products needed to be transportable; and 
 a standard unit for expressing the value of products was needed.
 These problems associated with such barter (exchange trade) made people search for a medium that would be acceptable to all in exchange for their products. Anything that was in common usage and accepted by all would be acceptable as a MEDIUM OF EXCHANGE.
 The search for a MEDIUM OF EXCHANGE makes it possible to identify the stages of development.
 The first phase:
 One product was exchanged for another, without the use of “currency”, or a “third product”, e.g. one bag of wheat was exchanged for one set of clothes. This therefore was the exchange rate that became the norm:
 	1 set of clothing = 1 bag of wheat



 The second phase:
 During this phase, a “third thing” in which the value of goods could be expressed was introduced. Such a “third thing/article” normally comprised a product that was regarded as valuable in particular communities, e.g. a sheep, which was significant of a person’s wealth. Barter (exchange transactions) could therefore be entered into in relation to the value of a sheep or a number of sheep, e.g.:
 	2 sets of clothing = 1 sheep = 2 bags of wheat



 The third phase:
 During this phase, an exchange medium that remained generally acceptable but overcame the shortcomings mentioned above became necessary. Metals like copper, silver and gold, which were regarded as “precious”, proved to be particularly suitable for use in this regard and for acceptance as medium of exchange. In terms of our example, we would present this as follows:
 	1 set of clothing = 1 oz of silver = 1 bag of wheat



 The fourth phase:
 Because of the danger linked to carrying large amounts of “precious metals” on long journeys undertaken to trade in distant parts, it became customary to deposit the metals with approved goldsmiths and obtain a receipt acknowledging the deposit (the gold certificate). It then became acceptable to merely submit the certificates as proof in exchange transactions. The next step had goldsmiths issuing certificates in different denominations, which also became an acceptable medium of exchange.
 The fifth phase:
 When goldsmiths realised that the gold and silver for the certificates were not claimed that frequently, they began issuing more gold certificates (paper money) than could be substantiated with gold from their coffers. This was the origin of modern paper money.
 The sixth phase:
 The most recent developments, besides printing of notes and minting of coins, involve the use of cheques and credit facilities. An amount is paid into a current account at a bank and the account holder can then write out a cheque to present as payment. The recipient of the cheque can deposit the money (cheque amount) into his or her own account or withdraw it as cash. In this way a cheque performs all the functions of currency.
 The historical development of currency can be set out to show four specific phases:
 THE DEVELOPMENT OF GOODS CURRENCY, when primitive communities had no need for money because of the self-provident nature of their existence.
 THE DEVELOPMENT OF METAL CURRENCY (COINS), which was easier to handle, more easily recognisable and of more constant value and therefore improved barter (trading by exchange.)
 THE DEVELOPMENT OF PAPER CURRENCY because metal was too expensive, cumbersome and involved too much risk to be used as the only means of payment.
 THE DEVELOPMENT OF CHEQUES AND CHEQUE DEPOSITS, which is the current basis of trade and exchange transactions in the present-day economy.
 This development of currency or money continues and the modern trend is towards a “cashless” society in which all forms of credit card and electronic transfers are used for local as well as foreign payments.

Activity 4



 DEVELOPMENT OF CURRENCY/MONEY
 SELF:
 Compile a list of all kinds of money and money–associated instruments that are in use in South Africa.

Activity 5



 DEVELOPMENT OF CURRENCY/MONEY
 GROUP:
 Divide the “money” that was identified by the group into the following categories:
Table 1.2. 	
                  MONEY
                	
                  MONEY – ASSOCIATED INSTRUMENTS
                



Activity 6



 FUNCTIONS OF MONEY IN THE ECONOMY
 GROUP:
 Refer to the above to deduce the functions of money within the economy.

Activity 7



 THE ROLE OF CREDIT CARDS
 GROUP:
 Compile a list of all the credit cards of which you have heard:
 [LO 1.1] 


Assessment



 
        Learning Outcomes(LOs)
      
 LO 1
 
        the economic cycle
      
 The learner will be able to demonstrate knowledge and understanding of the economic cycle within the context of ‘the economic problem’.
 
        Assessement Standards(ASs)
      
 
        This is evident when the learner:
      
 describes the historical development of money and its role in societies and their economies;
 discusses how trade (import and export) addresses the economic problem (choice and opportunity cost), as well as the role of banks in investing in the economy;
 explains how different economic systems address the economic problem (e.g. planned, market and mixed economies);
 discusses the role, rights and responsibilities of trade unions;
 discusses the role, rights and responsibilities of trade unions;

Overview:



 Overview of Modules:
  ACTIVITY 1: Subsistence economy
 GROUP:
 Each group must provide a list of needs set out in a well-considered manner.
 Characteristic features of the self-sufficient stage:
 agricultural by nature – merely producing to provide own needs, very primitive.
 No or very little division of labour – work done by members of the household.
 Absence of money – products are traded.
 Lack of expertise – only tradition and well-known customs are relevant.
 No transport or communication – messengers only.
 May result in wealth – the wider the sphere of influence / production, the greater the wealth.
  ACTIVITY 2: Specialisation
 SELF:
 Building a model of a house with cardboard: evaluate ingenuity, planning, etc.
  ACTIVITY 3: Specialisation and division of labour
 GROUP:
 Building a house from cardboard: evaluate participation, ingenuity, planning, etc.
 ADVANTAGES OF SPECIALISATION DISADVANTAGES OF SPECIALISATION
Table 1.3. 	
                 	Greater skill of worker.

	Saving of time.

	Improved quality of products.

	Possibility of utilising machines.




              	
                 	Monotony of work.

	General loss of expertise.

	Lack of pride in final product.

	Mutual dependency.




              


  ACTIVITY 4: Development of currency/money
 SELF:
 List of money and money-associated instruments: banknotes, coins, deposits, cheques, credit cards, traveller’s cheques, bank transfers, postal orders, money orders, etc.
  ACTIVITY 5: Development of currency/money
 GROUP:
 CURRENCY: MONEY-ASSOCIATED INSTRUMENTS
 Banknotes, coins and deposits only Credit cards, cheques, traveller’s cheques, etc.
  ACTIVITY 6: Functions of money in the economy
 GROUP:
 1. Medium of exchange: currency can be exchanged for other articles – generally      accepted.
 2. Measure of value: value of goods expressed in terms of currency- can be compared.
 3. Bearer of value: currency retains its value over time – stockpiling medium.
 	Standard for deferred payment: debt is repaid over a period of time.



  ACTIVITY 7: The role of credit cards
 GROUP:
 Different credit cards: Master, Visa, American Express, Clicks card, etc.


1.2. Trade and the economic problem*



ECONOMIC AND MANAGEMENT SCIENCES



 
        
      

Grade 8



 
        
      

THE ECONOMIC CYCLE



 
        
      

Module 2



 
        
      

TRADE AND THE ECONOMIC PROBLEM



ASSESSMENT STANDARD 1.2:



 
          
        

TRADE AND THE ECONOMIC PROBLEM



 When you have completed this MODULE, YOU WILL BE ABLE TO INDICATE HOW TRADE (IMPORTS AND EXPORTS) ADDRESSES THE ECONOMIC PROBLEM (OF CHOICE AND OPPORTUNITY COST), AS WELL AS THE ROLE OF BANKS IN ENCOURAGING INVESTMENT IN THE ECONOMY.
 THE CENTRAL PROBLEM OF THE ECONOMY:
 The most basic feature of human existence is the MULTIPLICITY OF HUMAN NEEDS and the contrasting SHORTAGE OF MEANS to satisfy these needs. In spite of enormous technological and scientific progress over a number of decades, which has led to considerable increases in production, the NEEDS of people remain GREATER than the MEANS to satisfy those needs. As there will always be needs that remain unsatisfied, people will always have to EXERCISE CHOICES with regard to the needs that have to be satisfied and those that will have to remain unsatisfied. Compare your own situation regarding pocket money: your pocket money definitely does not allow you to buy everything that you want. Therefore you continually have to CHOOSE between satisfying your needs or your desires (wants).
 In the same way, the businessman, government and every private individual have to exercise a multiplicity of choices every day to ensure that THE GREATEST DEGREE OF SATISFACTION is achieved.
 Activity 1
 NEEDS
 SELF:
 Compile a list of things that you experience as a need at present and that you will also experience as such in the future:
 Activity 2
 CLASSIFICATION OF NEEDS
 GROUP:
 Compare the lists of needs of the different learners in the group and classify them under the following headings:
 Natural
 Essential
 Luxury
 Protection
 Cultural
 Spiritual
 GROUP:
 Identify the FOUR/FIVE most basic needs of people from the above – i.e. things without which people would not be able to exist (provide examples of each):
 It is evident from the above that people / enterprises are unable to satisfy all their needs. If one need is satisfied, it means that another need might have to remain unsatisfied or be sacrificed. The SACRIFICE THAT IS MADE illustrates the principle of OPPORTUNITY COST. It reflects the sacrifice that you had to make to satisfy your greatest need; the usefulness in comparison with the satisfaction that you would have had if you had chosen to satisfy the other need. In economic terms, the satisfaction of need/usefulness that is derived from a product, is know as the utility that is derived from the particular product that was selected. The utility (or cost) of the satisfaction of your need is therefore equal to the utility (or cost) of the product that you have sacrificed. This is known as OPPORTUNITY COST.
 Activity 3
 OPPORTUNITY COST
 SELF:
 Indicate which of the products listed below you as a learner would choose if you were given a single opportunity to select one of them in each instance. (This means that you have to 
 decide which of the products you would choose and which you would manage without at this particular time in your life with your current needs.)
 	A cell phone or a walkman? 

	A bicycle or a set of TV games? 

	A holiday at the seaside or a 4 x 4 tour? 

	Nike shoes or a pair of Levi jeans? 



 SELF:
 Provide a reason or reasons for the choices that you have made in each instance:
 A previous paragraph has explained that the self-provident stage of economic development is followed by the phase of SPECIALISATION, SURPLUSES AND EXCHANGE. As communities developed their needs increased, both with regard to range and degree of sophistication. Nowadays the need for meat, for example, is not satisfied by meat in its simplest processed form any longer. There is a wide range of meat products from which to make a selection – frankfurters, polonies, sliced ham and many more national and international specialty products. The extension of the needs of people has created greater opportunity for specialty products, which, in turn, has created opportunities for exchange and trade over a wide spectrum. 
 With the improvement of transport and communication, it has become possible to distribute products to where a need arises. Communication between producers and traders lead to the conclusion of trade transactions both locally and abroad. Speedy transport by road, rail, air and sea make it possible to deliver products without unnecessary delays, so that they arrive at end users in good time and in good condition. Compare the marketing of fresh products, and also of other specialty products.
 Activity 4
 COMMUNICATION
 GROUP:
 Compile a list of organisations and/or institutions that are responsible for communication networks, both locally and abroad:
 Activity 5 
 TRANSPORT
 SELF:
 Provide the names of organisations and/or institutions that are responsible for the distribution of goods, both locally and abroad. Complete and compare your list with those of other learners.
 By road
 By rail
 By air
 By sea
 When a country like South Africa sells its products to other countries, we call it EXPORT, and when South Africa buys goods from other countries, we call it IMPORTS. SOUTH AFRICAN EXPORTS comprise mainly primary products such as products from mining (gold, diamonds, platinum, manganese, chromium, coal, iron ore and asbestos), and agricultural products such as wool, sugar, hides and fruit. SOUTH AFRICA’S IMPORTS comprise mainly capital goods such as machinery, computers and electronic products. The money that is earned through exports is used to pay for imported products and in this way the numerous needs of South Africans are satisfied.
 Activity 6
 IMPORT AND EXPORT
 GROUP:
 Compile a list of products that are exported and imported by South Africa. Indicate the destinations of exports and the origin of imports.
 It is evident from the above that exchange transactions or trade agreements cannot be initiated if production is inadequate. Goods must be manufactured by factories or industries before they can be distributed, whether locally or abroad. Industries require large amounts of money or capital before production can commence and in most cases an industrialist or entrepreneur is unable to generate enough capital to start such an enterprise on his / her own. The entrepreneur can submit an application for a loan from a bank to make it possible to start production. The bank will have to use funds that other investors have deposited in the bank in order to make such a loan available. They make the money available to the entrepreneur at a fixed interest rate for an agreed period of time. In economic terms we speak of funds that are used or applied in such a manner as an INVESTMENT, i.e. money made available to facilitate further production. What we have to remember is that such funds/capital can be made available only when there are other investors who are willing to deposit their SAVINGS in the bank. The bank therefore is the middle person who facilitates the investment.
 Activity 7
 SAVINGS
 SELF
 Consult a bank or other financial institution to find out what facilities they offer to encourage the public to entrust their savings to them.
 [LO 1.2] 


Assessment



 
        Learning Outcomes
        (LOs)
      
 LO 1
 
        the economic cycle
      
 The learner will be able to demonstrate knowledge and understanding of the economic cycle within the context of ‘the economic problem’.
 
        Assessement Standards(ASs)
      
 
        This is evident when the learner:
      
 describes the historical development of money and its role in societies and their economies;
 discusses how trade (import and export) addresses the economic problem (choice and opportunity cost), as well as the role of banks in investing in the economy;
 explains how different economic systems address the economic problem (e.g. planned, market and mixed economies);
 discusses the role, rights and responsibilities of trade unions;
 discusses the role, rights and responsibilities of trade unions;

Overview



 ACTIVITY 1: Needs
 SELF:
 Evaluate each one’s list of needs.
 ACTIVITY 2: Classification of needs
Table 1.4. 	
                Natural
              	
                Natural
              	
                Luxury
              	
                Protection
              	
                Cultural
              	
                Cultural
              
	Food	Food	Second car	Plundering	Music	Religion
	Love	Clothing	Pets	Natural disasters	Theatre	Worship
	Recreation	Housing	Expensive clothing	Terrorism	Concerts	 
	Sympathy	Medical services	Servants	Pollution	Concerts	 


 GROUP:
 FOUR / FIVE most basic needs of people:
 Food, clothing, housing, protection, recreation.
 ACTIVITY 3: Opportunity cost
 SELF:
 Let learners make a selection and then let them use the above list to determine the category in which they would place each product, e.g. would a cellular phone be rated as a necessity or a luxury, etc? 
 ACTIVITY 4: Communications
 GROUP:
 Communication service providers: Telkom, Cell C, Vodacom, MTN, etc.
 ACTIVITY 5: Transport
 SELF:
 By road: Pickfords, Stuttafords, etc.
 By rail: Spoornet
 By air: SAA, Nationwide, etc.
 ACTIVITY 6: Import and export
 GROUP:
 IMPORT: Cars (Japan), Computers (USA), Watches (Switzerland)
 EXPORTS: Iron ore (Japan), Mealies (Zimbabwe), Wine (England)
 ACTIVITY 7: Savings
 SELF:
 Evaluate the learner’s research with regard to savings facilities offered by various financial institutions.


1.3. Economic systems*



ECONOMIC AND MANAGEMENT SYSTEMS



 
        
      

Grade 8



 
        
      

THE ECONOMIC CYCLE



 
        
      

Module 3



 
        
      

ECONOMIC SYSTEMS



ASSESSMENT STANDARD 1.3:



 
          
        

ECONOMIC SYSTEMS



 When you have completed this section, YOU WILL BE ABLE TO EXPLAIN HOW DIFFERENT ECONOMIC SYSTEMS ADDRESS THE ECONOMIC PROBLEM. (E.g. a planned, market-driven, mixed economy)
 The central question that humankind has to solve in day-to-day living, is how to SATISFY THEIR NEEDS with the LIMITED MEANS available, i.e. how to apply the scarce resources to provide in as many as possible of the experienced needs. During this process answers must continually be found for the following:
 WHAT must be produced?
 HOW must it be produced?
 FOR WHOM must it be produced?
 As different countries (nations) differ from one another with regard to customs, tastes, culture and preferences, it is improbable that all nations will respond to these issues in a similar manner when using their resources for the satisfaction of their needs. Some nations, for instance, have a greater tendency towards sharing their possessions, to everybody’s advantage, while people in other nations may be more inclined to selfishly claim their “power” and “wealth” for themselves, with no regard for the rest. The way in which people think and behave will determine the answers to the above questions. This results in the development of a particular economic system that determines the nature of the economic process. 
 An ECONOMIC SYSTEM therefore involves institutions and/or rules that regulate the processes of production, consumption and distribution, as well as the development of characteristic features, that distinguish economic SYSTEMS from one another. To distinguish ECONOMIC SYSTEMS from one another, answers are required to the following questions:
 How or by whom are decisions taken?
 What is the spur or impetus that leads to decisions being taken?
 How is the right of possession with regard to resources for production regulated?
 How or by whom are the activities of producers and consumers regulated?
 It is possible to distinguish between the following TWO economic systems by considering the above questions:
Table 1.5. 	MARKET DRIVEN SYSTEM (CAPITALISM)	PLANNED SYSTEM (COMMUNISM)
	
                   	Decisions taken by private individuals.




                	Decisions taken according to government’s central plan.
	B. Striving for the highest possible gain.	Striving for the best interests of society.
	C. Private ownership of sources of production.	Common ownership of sources of production.
	
                   	Activities regulated by supply and demand.




                	Activities regulated by central planning.


 CAPITALISM / COMMUNISM

Activity 1:



 Explain what you understand points A to D to mean with regard to the practical situation that results from the economic structure of a country.
Table 1.6. 	 	CAPITALISM	COMMUNISM
	
                   	Regarding production:




                	 	 
	Regarding consumption:	 	 
	Regarding job:	 	 
	Regarding settlement:	 	 
	
                   	Regarding production




                	 	 
	Regarding investment	 	 
	
                   	Regarding ownership:




                	 	 
	
                   	Regarding production:




                	 	 
	Regarding consumption:	 	 
	Regarding trade:	 	 
	Regarding prices:	 	 


 In CAPTALISM, which is also known as the FREE MARKET SYSTEM, the emphasis is on private ownership of property, dependence on the functioning of the market mechanism (supply and demand), as well as the principle of own interest and the continuous pursuance of gain or profit. In COMMUNISM, or the CENTRALLY PLANNED/CENTRAL PLANNING SYSTEM, the emphasis is on state ownership of the means of production and dependence on the central plan of the government. The latter system is based on the idea that the interests of the community should have greater weight than those of the individual and that production and consumption should be geared towards equal distribution of goods rather than towards profit.
 At this point it must be pointed out that there is no place in the world where either system is present in its “pure” form. In most countries, the economy is divided into two sectors, with some decisions being left to the market mechanism and others left in the hands of central planning. In this way, it is possible to get the best of both systems. When the two systems are used in conjunction in this way, we refer to a MIXED ECONOMIC SYSTEM. We also have a mixed economic system in South Africa, with certain economic functions being undertaken by private individuals (the private sector) and other functions being undertaken by the state (the public sector).

Activity 2:



 MIXED ECONOMIC SYSTEM OF SOUTH AFRICA
 Make use of the table below to indicate which of the given functions in the South African economy are provided by the private sector and which by the central authority. In each case also name the institution that provides the service.
 [LO 1.3]
Table 1.7. 	SERVICE	SUPPLIER: (PRIVATE OR STATE)	institutions
	Telecommunication	 	 
	Transport	 	 
	Electricity	 	 
	Armaments	 	 
	Water supply	 	 
	Sanitation, sewage and refuse removal	 	 
	Medical services	 	 
	Security services	 	 




Assessment



Table 1.8. 	Learning Outcomes(LOs)
	LO 1
	the economic cycleThe learner will be able to demonstrate knowledge and understanding of the economic cycle within the context of ‘the economic problem’.
	Assessement Standards(ASs)
	This is evident when the learner:
	
                 	describes the historical development of money and its role in societies and their economies;




              
	
                 	discusses how trade (import and export) addresses the economic problem (choice and opportunity cost), as well as the role of banks in investing in the economy;




              
	
                 	explains how different economic systems address the economic problem (e.g. planned, market and mixed economies);




              
	
                 	discusses the role, rights and responsibilities of trade unions;




              
	
                 	discusses the role, rights and responsibilities of trade unions;




              







 
        
      

Overview



ACTIVITY 1:Capitalism / Communism



Table 1.9. 	 	CAPITALISM	COMMUNISM
	
                   	Regarding production:




                	Individual choice re what, how	Central committee decides for whom, what
	Regarding consumption:	Variety of goods, wide selection	Goods limited, hardly any choices
	Regarding job:	Able to follow career of choice	Placed/trained according to aptitude and country’s needs
	Regarding settlement:	Free to choose any location	Private settlement not allowed
	
                   	Regarding production




                	Decisions led by greatest profit	State owns means of production
	Regarding investment	Directed towards highest profit	Prescribed by central plan
	
                   	Regarding ownership:




                	Private ownership of means of production	State owns means of production
	
                   	Regarding production:




                	Market/demand determines production	Produces according to central production plan
	Regarding consumption:	Price/supply determines	No choices or preferences
	Regarding trade:	Free choice regarding trading	Under control of cooperative shops



ACTIVITY 2: Mixed economic system of South Africa



Table 1.10. 	SERVICE	SUPPLIER:(PRIVATE OR STATE)	institutions
	Telecommunication	
                   	State




                	
                   	Telkom




                
	 	
                   	Private sector




                	
                   	MTN, Cell C, Vodacom




                
	Transport	
                   	State




                	
                   	Spoornet




                
	 	
                   	Private sector




                	
                   	Pickfords, etc.




                
	Electricity	
                   	Private sector




                	
                   	ESKOM




                
	 	
                   	Local authorities




                	
                   	on behalf of ESKOM




                
	Armaments	
                   	Private sector




                	
                   	DENEL




                
	 	
                   	previously the State)




                	
                   	ARMSCOR




                
	Water supply	
                   	State




                	
                   	through local authorities




                
	Sanitation, sewage and refuse removal	
                   	State




                	
                   	through local authorities




                
	Medical services	
                   	State




                	
                   	State hospitals




                
	 	
                   	Private sector




                	
                   	Netcare (e.g. NI City, etc.)




                
	Security services	
                   	State




                	
                   	State




                
	 	
                   	Private sector




                	
                   	Private sector




                





1.4. Trade Unions*



ECONOMIC AND MANAGEMENT SCIENCES



 

      

Grade 8



 

      

THE ECONOMIC CYCLE



 

      

Module 4



 

      

TRADE UNIONS



ASSESSMENT STANDARD 1.4:



 

        

TRADE UNIONS



 When you have completed this section, you wIll be able to do an analysis of the role, rights and responsibilities of trade unions.

WHAT IS A TRADE UNION? 



 	A trade union is an association of employees who have common interests and have formed an organisation with the purpose of protecting and promoting their interests through collective negotiation with their employers. The process of negotiation between a trade union and an employer is known as bargaining. Employees who join a trade union pay membership fees. The amount is determined by the regulations of the trade union and in many cases the employee’s wages or salary.



 Members of a trade union who are employed at the same workplace or live in the same environment form a local branch of the trade union. Each branch elects a trade union representative who acts as spokesperson. The member who is elected to the position is known as the representative or shop steward. Members of large trade unions also elect regional representatives and a national management committee – a committee that acts on behalf of its members. The national management committee is usually elected at an annual conference of the trade union at which delegates from all the regional branches are present.
 Trade unions are directed towards protecting the rights of the employees. Problems may occur from time to time in any working environment. When this happens, the employee needs someone to protect his interests or present his case. Trade unions provide their members with legal advice, as well as someone who can present the member’s case, act on behalf of all employees and has the support of the national committee.

What can the employee expect from his trade union?



 	To engage in negotiations with the employer with regard to remuneration, work hours,  holidays, the method of payment, allowances, overtime pay and retirement and pension benefits.

	

	To represent the employee during negotiations when serious problems develop at  work, e.g. when the employee claims to have been treated or disciplined unfairly, or that his complaints have not received due consideration.

	To negotiate improved working conditions, e.g. when the employee is exposed to  health and safety risks such as harmful gases, dangerous machinery, or even inadequate toilet facilities.

	To negotiate protection for the employee when there is a threat of dismissal or redundancy.

	To assist in matters related to unemployment insurance.

	To ensure that part-time employees are treated fairly. As a member of the trade union,  the employee is also entitled to other benefits, such as legal advice and legal  representation, certain cash benefits and other services, as well as the opportunity to  attend trade union training courses.

	



 Trade union organisations are divided into four types:
 	Trade unions for GENERAL WORKERS, representing all kinds of employees  across a wide front, both skilled and unskilled, e.g. the Transport and General Workers  Union.

	Trade unions for TRADESMEN, representing employees with particular skills such as  cabinet-makers, etc. 

	Trade unions for INDUSTRIAL WORKERS, representing skilled and unskilled workers  in a particular industry, e.g. employees in the paper- and pulp-manufacturing industry.

	Trade unions for WHITE-COLLAR WORKERS, representing employees who are not  involved in manual-skills occupations, e.g. teachers.



 Activity 1
 TRADE UNIONS
 List FIVE advantages and FIVE disadvantages associated with trade unions. Discuss each of the advantages and disadvantages in detail. Do you think there is any benefit in belonging to a trade union? Would you consider becoming a member of a trade union when you start working? Each group must present its points of view to the class.
 Activity 2
 TRADE UNIONS
 A friend of yours is about to start a new job. He cannot decide whether to join a trade union or not. 
 Write him a letter and explain your point of view on the matter.
 
          A3 POSTER AND 2 TYPED PAGES
        
 Select any trade union and find out all you can about it, e.g. how well they are organised; whether they support a particular political party; if so, in what way; whether they have been involved in marches or strikes, and when. Present some of the information on a poster, and then on two A4 pages (typed.) 
 NOTE: also use newspaper articles for your poster.


Assessment



 
        Learning Outcomes
        (LOs)
      
 LO 1
 
        the economic cycle
      
 The learner will be able to demonstrate knowledge and understanding of the economic cycle within the context of ‘the economic problem’.
 
        Assessement Standards(ASs)
      
 
        This is evident when the learner:
      
 describes the historical development of money and its role in societies and their economies;
 discusses how trade (import and export) addresses the economic problem (choice and opportunity cost), as well as the role of banks in investing in the economy;
 explains how different economic systems address the economic problem (e.g. planned, market and mixed economies);
 discusses the role, rights and responsibilities of trade unions;
 discusses the role, rights and responsibilities of trade unions;

Overview



 ACTIVITY 1: Trade unions
 Evaluate initiative and ingenuity regarding advantages and disadvantages.
 ACTIVITY2: Trade unions
 Evaluate points of view as stated in the letter.
 
        A3 POSTER AND 2 TYPED PAGES
      
 Evaluate the research, presentation and opinions as presented.


1.5. Inflation*



ECONOMIC AND MANAGEMENT SCIENCES



 
        
      

Grade 8



 
        
      

ECONOMIC CYCLE



 
        
      

Module 5



 
        
      

INFLATION



 
        
      

ASSESSMENT STANDARD 1.5:



 
        
      

INFLATION



 WHEN YOU HAVE COMPLETED THIS SECTION, YOU WILL BE ABLE TO EXPLAIN INFLATION AND THE REASONS FOR FLUCTUATIONS IN THE INFLATION RATE.
 	Inflation is a continuous and considerable INCREASE in the general price level resulting from monetary causes which cause the buying power of money to decrease. It needs to be emphasised that an increase in the price of a single item or the once-only rise in the price of a commodity is not regarded as inflation. For price rises to be qualified as inflation, they have to be of a general nature and cover a wide range of commodities, and they must also be considerable. Such an increase in prices will mean that our money cannot buy as much as it previously could. You will, in fact, be worse off. 

	As inflation implies a general increase in price levels, it is important to analyse reasons for such an increase.

	Our study of the economic cycle has revealed that the goods stream must always be equal to the currency stream. When the currency stream increases without a simultaneous increase in production/supply of goods, prices will rise because of an increase in the greater demand (resulting from people having more money for purchases.)

	Consumers purchase the following food items for R100,00

	1 bag of potatoes

	1 tray of tomatoes

	1 bag mealie meal

	1 box avocadoes

	According to the above model, the average price of each of the listed items is R25 (R100 divided by the 4 items). If the currency stream would somehow increase by R60, the average price of the items would rise to R40 per item [(R100 + R60) divided by the same 4 items]. The increase in the amount of money has therefore resulted in a rise in the price.

	Closely related to this, is the situation where people spend more money on goods and services than the economy is able to provide. In this instance the demand for goods and services rises at a faster rate than the rate at which the units of production are able to deliver their products. This means that prices are forced upward by the greater demand from 

	consumers. The situation in which “more money” chases after “fewer goods” is known as DEMAND-PULL INFLATION.

	The prices of goods can also rise because of continuous and considerable wage, benefit and tax increases which, for instance, force up the running costs of enterprises or producers. To be able to maintain his profit margins, the producer will simply have to increase the prices of his products.

	If price increases result from continuous increases in production costs, we have COST PUSH INFLATION, because the increases in running COST place PRESSURE on the selling PRICE and push it UP. Think about the influence of trade unions with their sometimes exorbitant demands for wage increases (i.e. input costs), and the on-going increases in fuel prices (another input cost) because of exchange rate fluctuations.



Activity 1



 INFLATION
 The information quoted below was published in a newspaper during August 2002. Read the article and answer the questions that follow:
 Statistics South Africa has indicated that the CPI (Consumer Price Index) – the all-inclusive measure of inflation – has increased by 10,6% in July. The increase is the result, among other factors, of a 5,2% increase in housing costs as compared with June this year. The increase in interest rates of commercial banks from 15% to 16% in June was offered as reason for the steep increase in housing costs.
 Housing, food and transport make up more than half of the CPI basket of goods. Steep increases in these components explain the rise in inflation. Refer to the following table:
  THIS IS WHY CONSUMERS HAD TO DIP DEEP INTO THEIR POCKETS
  Item %-increase since July 2001
  HOUSING 16,76%
  FOOD 16,83%
  MEDICAL COST 12,72%
  TRANSPORT 6,72%
  (Source: Standard Bank)
 Food prices this year made a considerable contribution to the inflation monster. Mr Craig Irwing of the Consumer Insight Agency, who investigates consumer affairs on behalf of large enterprises, regards the price increases as a call to prioritise. He said that consumers will have to decide what they will sacrifice – this will probably be unavoidable. The big question will just be what? Will it be an extra school shirt or a bottle of wine? Mr Irwing suggested that it will hopefully in most cases be the luxury item.
 Ms Basson of Salon Karin expects that fewer people will visit hair salons. She suggested that clients will prefer to apply colour and take care of their hair at home rather than count cents.
 Although most families try to eat out from time to time, they spend less per meal. A manager at Spur asserts that clients now order 200g rather than 500g steaks. Whereas they used to eat out twice a month, they can now afford to do so once a month at most.
 Medical services have been hit hardest by inflation increases. Patients increasingly inquire about generic equivalents of costly medicines.
 (August 2002 - Die Burger)
 	What are the main causes of the continuing increases in the prices of the following commodities?



 Housing: 
 Transport: 
 Food: 
 Medical costs: 
 	Does the above article refer to DEMAND-PULL INFLATION or COST-PUSH INFLATION? Explain why. 




Activity 2



 INFLATION
 Do research on the following topics and hand in a written report.
 	Explain the function of STATISTICS SOUTH AFRICA (SSA).





Assessment



 
        Learning Outcomes
        (LOs)
      
 LO 1
 
        the economic cycle
      
 The learner will be able to demonstrate knowledge and understanding of the economic cycle within the context of ‘the economic problem’.
 
        Assessement Standards(ASs)
      
 
        This is evident when the learner:
      
 describes the historical development of money and its role in societies and their economies;
 discusses how trade (import and export) addresses the economic problem (choice and opportunity cost), as well as the role of banks in investing in the economy;
 explains how different economic systems address the economic problem (e.g. planned, market and mixed economies);
 discusses the role, rights and responsibilities of trade unions;
 discusses the role, rights and responsibilities of trade unions;

Overview



 ACTIVITY 1: Inflation
 
        Causes of price increases
      
  Housing: Increases in interest rates (3 times in 2002).
  Transport: Increases in fuel prices (several times in 2002).
  Food: Increases in food prices resulting from rising costs (continuous    during 2002).
  Medical costs: Deterioration of the exchange rate of the rand, which raises the    prices of imports.
 	
          Which kind of inflation?
        



   Cost inflation, because the above refers to input costs that lead to rising prices.
 ACTIVITY 2: Inflation
 Research regarding:
 	STATISTICS SOUTH AFRICA (SSA): SSA gathers a large range of statistics with regard to the South African social and economic environment to assist the State in its effort to plan effectively.

	The CPI basket: The CPI basket is a representative selection of consumer goods, the prices of which are monitored continuously (on a monthly basis) over a wide front to be able to determine price changes. The data are used by SSA to calculate the CPI and the rate of inflation.

	Evaluate the initiative and judgement of the learners with regard to the financial position of the consumer.





Solutions


Chapter 2. Term 2



2.1. Run-up to the reconstruction and development programme*



ECONOMIC AND MANAGEMENT SYSTEMS



 

      

Grade 8



 

      

SUSTAINABLE GROWTH AND DEVELOPMENT



 

      

Module 1



 

      

RUN-UP TO THE RECONSTRUCTION AND DEVELOPMENT PROGRAMME (RDP)



 South African history is characterised by colonialism, racism, apartheid, sexism and repressive labour and other legislation that has dominated over the economic and social environment since the country was founded in 1652. These factors resulted in deep-seated inequalities in the South African community, which led to revolutionary resistance towards the end of the 20th century, and eventually to the establishment of a democratically elected government in 1994.
Activity 1: Colonialism



 Group:
 Discuss your understanding of the concept COLONIALISM and name examples from other parts of the world where countries / states were colonized. Also indicate which states were involved in the colonization of Africa and South Africa. Which “inequalities” arose in South Africa on account of colonization?
 	Provide a brief report for your presentation to the class. Write this report on a folio. After the class discussion, write a brief summary: 




Activity 2: Racism



 Group:
 Discuss your understanding of the concept RACISM and explain how this affects everyday life. What do you regard as the main disadvantages of racism, i.e. which “inequalities” resulted from it in South Africa? Does racism occur in other countries?
 	Provide a brief report for presentation to the class.




Activity 3: Apartheid



 Group:
 Discuss your understanding of the concept APARTHEID. why did it arise and what were the implications for South African society, i.e. which “inequalities” resulted from apartheid in South Africa?
 	Provide a brief report for presentation to the class. 




Activity 4: Sexism



 Group:
 Explain what you understand the concept SEXISM to mean and indicate what you see as disadvantages related to it, i.e. which “inequalities” have arisen in South Africa because of sexism.
 	Provide a brief report for presentation to the class.




Activity 5: Repressive Legislation



 Group:
 Explain how you understand the concept REPRESSIVE LEGISLATION and provide examples of such legislation that was enforced on the South African community by the previous government. Which “inequalities” were established by such legislation in South Africa?
 	Provide a brief report for presentation to the class.




Activity 6: Summative Analysis



 SELF:
 each learner is required to provide a written analysis of each of the above concepts, under the headings given below. A neat presentation of TWO pages, at most, must be prepared and handed in and a brief summary must be entered: [LO 2.1
 1. Analysis of concepts. 
 2. Examples to illustrate the concepts.
 3. Effects on the social and employment environment in South Africa.
 To deal with these “problems”, the present government instituted the RECONSTRUCTION AND DEVELOPMENT PROGRAMME (RDP) in 1994. This programme was meant to fulfil the following broad principles, which were aimed at eliminating “inequalities”.
 It had to be:
 1. an integrated and sustainable programme (i.e. everyone was to be included)
 2. directed towards people (i.e. all human resources were to be developed),
 3. aiming to provide safety and security for all (i.e. the Constitution had to safeguard everyone);
 4. that would promote nation building (i.e. earlier dividing lines separating rich and poor, white and black, had to be eliminated)
 5. and would combine reconstruction and development (i.e. full access to work and services) and
 6. serve democratic objectives (meaning that all would have a say, even at grassroots level).
 To meet these requirements, RDP objectives are grouped according to FIVE programmes that were to be mutually supportive:
 1. provision of basic needs of the population;
 2. development of manpower;
 3. development of the economy;
 4. democratisation of the state and society; 
 5. implementation of the RDP.

Activity 7: The Reconstruction and Development Programme (RDP)



 

        

[LO 2.1]



 SELF:
 Do research on the Reconstruction and Development Programme and explain briefly what the government’s aim is with each of the programmes regarding the intention to eliminate the inequalities of the past. Provide a neat report (no more 
 than one page per programme, i.e. five pages.) Summarize your reports on the different programmes.
 : Reference:
 	ANC, 1994: THE RECONSTRUCTION AND DEVEOPMENT PROGRAMME: A Policy Framework. Umanyano Publications, PO Box 3851, Johannesburg, 1994

	





Assessment



Table 2.1. 	
                Learning outcomes
                (LOs)
              
	LO 2
	SUSTAINABLE GROWTH AND DEVELOPMENTThe learner will be able to demonstrate an understanding of sustainable growth, reconstruction and development, and to reflect critically on related processes
	
                Assessment standards
                (ASs)
              
	
                We know this when the learner:
              
	2.1 investigates and describes how the national budget is used to influence growth and redress economic inequalities;
	2.2 investigates how the RDP could have been used to stimulate economic growth and restructuring (e.g. capacity building jobs);
	2.3 discusses the importance of savings for investments;
	2.4 investigates and reports on how technology can improve productivity, economic growth, living standards, etc.



Synopsis of Module



Assessment Standard 2.1



 ACTIVITY 1:COLONIALISM
 GROUP:
 COLONIALISM is the economic, political and social policy by which a powerful state maintains and extends its control over regions and peoples; the way in which colonies are gained or retained.
 Examples of colonies:
 	LESOTHO is a former British colony

	ZAIRE is a former colony of Belgium

	MOZAMBIQUE is a former colony of Portugal

	SOUTH AFRICA is a former colony of Britain

	Name more examples!



 Inequalities:
 	level of civilization, education, etc.



 ACTIVITY 2:RACISM
 GROUP:
 RACISM is the supposition that character and ability is determined by race – it relies on a way of thinking that accepts that a particular race is superior and has the right to rule over other races.
 Occurrence in the RSA:
 	
            
 	Differentiation between people of white, black, coloured and Indian extraction.




          

	



 Disadvantages:
 	Prejudice / discrimination with regard to education, employment, marriage, etc.



 Also present in:
 	The Netherlands, with regard to Turkish people

	Australia, with regard to Aborigines

	Germany (in the time of Hitler) with regard to Jews

	Find further examples.



 ACTIVITY 3:APARTHEID
 GROUP:
 APARTHEID is a system involving separation and being separate; a political policy that strives to have each group of colour develop separately from every other colour group according to the nature, aptitudes and traditions of each; autogenous development.
 	In South Africa apartheid as a policy was enshrined in legislation, which meant that society was organised on the basis of race.

	This resulted in inequality that involved employment opportunities, public facilities and public places.

	(Find further examples)



 ACTIVITY 4:SEXISM
 GROUP:
 SEXISM is discrimination between male and female that is applied with regard to social, political and work relations.
 Inequalities:
 	discrimination regarding certain employment opportunities, e.g. for ministers of religion, etc.



 ACTIVITY 5:REPRESSIVE LEGISLATION
 GROUP:
 REPRESSIVE LEGISLATION involves any legislation that is promulgated with the purpose of discriminating against particular groups on the basis of specific preferences or aversions, e.g. race, gender, age, etc.
 Examples in the RSA:
 	The Group Areas Act, the Law on Mixed Marriages, etc. (Expand).



 Inequalities:
 	
            
 	Groups / people were prevented from exercising their basic rights as human beings. (Provide examples)




          

	



 ACTIVITY 6:SUMMATIVE ANALYSIS
 SELF:
 each learner is required to provide his / her own written response to each of the above concepts - two pages of writing, at most - under the following headings:
  1. Analysis of concepts
  2. Examples to illustrate the concepts
  3. Effects on the social and employment environment in South Africa.
 ACTIVITY 7:RECONSTRUCTION AND DEVELOPMENT PROGRAMME (RDP)
 SELF:
 each learner is required to do research concerning the RDP and to explain briefly how the programme is intended to eliminate the inequalities of the past.



2.2. The national budget, growth and economical equalities*



ECONOMIC AND MANAGEMENT SYSTEMS



 

      

Grade 8



 

      

SUSTAINABLE GROWTH AND DEVELOPMENT



 

      

Module 2



 

      

THE NATIONAL BUDGET, GROWTH AND ECONOMIC INEQUALITIES



 In addressing the problems of growth and economic inequality in South Africa, the central issue is improvement of the quality of life for all levels of society, but particularly for the poor and the previously disadvantaged, to empower all people to eventually be able to improve their own conditions and, in the process, improve the potential for economic growth. The first priority would be to provide the basic needs of the masses who do not have ready access to the necessary resources, such as access to employment opportunities, access to land, housing, provision of water, health care, etc. Some of the main objectives of the RDP is to establish programmes that have to facilitate redistribution and reconstruction, for instance by the redistribution of land to those who were removed from their land; the provision of more than a million houses; provision of clean water and sanitation; electrification of 2,5 million homes; and access to affordable health care and telecommunication.
 The success of these programmes depends on the involvement of people from all levels of society where infrastructure has to be established so that they can be employed in the processes of construction and management. The expectation is that infrastructural programmes will stimulate the economy through increased demand, for instance, for bricks and steel products, appliances such as TV sets and washing machines, as well as many related products. The task of the industrial sector would be to provide new and more effective, cheaper products to supply the needs of the infrastructure. 
 The above discussion clearly indicates that the success of the RDP is dependent on a co-ordinated effort of labour and other skills, together with greater financing, It has to be seen as a national responsibility. The RDP is focused on restructuring public spending to finance the democratic government’s contribution to the programmes. This means that planning is needed to finance higher capital expenditure, to ensure greater effectiveness in consumer expenditure and to increase the government’s ability to collect taxes.
 To do this, the following priorities have to be accommodated in the planning of national budget structures.
 1. Elimination of prejudice / discrimination revealed in taxes levied against women;
 2. Revision of personal tax to decrease the tax burden on lower income groups;
 3. Rationalization of company tax to make provision for company expenditure related to health, education, housing, etc.;
 4. Simplification of company tax structures to eliminate discrimination against small and medium businesses;
 5. Reduction of VAT on the most basic commodities;
 6. Budget allocations should reflect the government’s willingness to see that women are empowered and developed;
 7. Sensitivity to the differentiation between men and women.
Activity 1:



 

        

The National Budget



 

        

[LO 2.2]



 Group/SELF:
 Analyse the most recent budget and evaluate it to decide whether it makes any reference to any of the measures suggested above. Also determine whether priorities have been taken into consideration and explain how budget measures that have been announced might eliminate inequalities.
 	Provide a neat report that could be discussed in class. Write a short summary after the class discussion. 





Assessment



Table 2.2. 	
                Learning outcomes
                (LOs)
              
	LO 2
	SUSTAINABLE GROWTH AND DEVELOPMENTThe learner will be able to demonstrate an understanding of sustainable growth, reconstruction and development, and to reflect critically on related processes
	
                Assessment standards
                (ASs)
              
	
                We know this when the learner:
              
	2.1 investigates and describes how the national budget is used to influence growth and redress economic inequalities;
	2.2 investigates how the RDP could have been used to stimulate economic growth and restructuring (e.g. capacity building jobs);
	2.3 discusses the importance of savings for investments;
	2.4 investigates and reports on how technology can improve productivity, economic growth, living standards, etc.



Overview







 

        

Assessment standard 2.2:THE NATIONAL BUDGET, GROWTH AND ECONOMIC INEQUALITIES



 ACTIVITY 1: THE NATIONAL BUDGET
 GROUP/SELF:
 Learners are to use the most recent budget and evaluate it to decide what is being done to eliminate existing inequalities in the community (e.g. poverty, illiteracy, disease, etc.)



2.3. Savings and investment*



ECONOMIC AND MANAGEMENT SCIENCES



 

      

Grade 8



 

      

SUSTAINABLE GROWTH AND DEVELOPMENT



 

      

Module 8



 

      

SAVINGS AND INVESTMENT



 SAVINGS AND INVESTMENT
 When you have completed this section, you will be able to discuss the importance of savings and investment opportunities.
 What is the meaning of SAVINGS in regard to economics?
 SAVINGS can be regarded as that portion of your income that is not used to satisfy your needs. This means that it is the portion of your income (or pocket money) that you “put away”. The “surplus” might be kept in a piggy bank (where it earns no interest) or it can be deposited in a savings account with in a financial institution (where it will earn interest) as an investment.
 Activity1:
Personal Savings



 SELF:
 Provide reasons for why you might decide to put away pocket money rather than use it immediately. 
 Note: You may decide for yourself where you are going to “put it away”.
 Submit a written account of your decisions (one page).
 The implication for the PRIVATE INDIVIDUAL is that he or she, by saving, refrains from spending the money on consumer goods and services, or the postponement of satisfying needs to a later occasion. As explained above, such a surplus may be “hoarded” or deposited with a financial institution.
 Activity 2:

Savings and the Private Individual



 SELF: 
 Provide possible reasons why private individuals may decide to postpone satisfying of needs to a later date:
 for the PRODUCER, saving implies the portion of his production that is not made available for consumption, or the production surplus that is not consumed.
 Activity 3:

Saving and the Producer



 SELF: 
 Why would a producer decide against making all of his production available? Suggest reasons:
 In the simplest form, SAVINGS can be represented as:
 SAVINGS = INCOME - CONSUMPTION
 The portion of income that is not spent on consumer goods (i.e. savings) and is deposited with financial institutions is made available to clients (or enterprises) who wish to utilize the funds for further production. The money is also made available to producers or industrialists who want to extend their production capacity, i.e. who want to INVEST in capital goods such as buildings, machinery, etc. 
 please note: Capital goods include all goods that are used to produce consumer goods, and, possibly, capital goods as well.
 Activity 4:

Consumer and Capital Goods



 SELF: 
 Explain the difference between consumer goods and capital goods. Make use of examples.
 Give examples of consumer goods that are capitol goods as well.
 Activity 5:

Capital Goods and Investment



 Group:
 Select an enterprise or enterprises from your immediate environment and describe all the capital goods that have been acquired as an INVESTMENT to make production viable.
 Provide a report for presentation to the class.
Table 2.3. 	 	 	 	 	 
	 	LO 2.3	 	 	 
	 	 	 	 	 




Assessment



Table 2.4. 	Learning outcomes(LOs
	 
	LO 2 
	SUSTAINABLE GROWTH AND DEVELOPMENTThe learner will be able to demonstrate an understanding of sustainable growth, reconstruction and development, and to reflect critically on related processes.
	Assessment standards(ASs)
	 
	
                We know this when the learner
                :
              
	2.1 investigates and describes how the national budget is used to influence growth and redress economic inequalities;
	2.2 investigates how the RDP could have been used to stimulate economic growth and restructuring (e.g. capacity building jobs);
	2.3 discusses the importance of savings for investments;
	2.4 investigates and reports on how technology can improve productivity, economic growth, living standards, etc.
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Synopsis of Module



Assessment standard 2.3:SAVINGS AND INVESTMENT



  ACTIVITY1: PERSONAL SAVINGS
 SELF:
 	Learners are required to provide reasons for their own inclinations to save



  ACTIVITY2: SAVINGS AND THE PRIVATE INDIVIDUAL
 SELF:
 	learners are required to provide possible reasons for savings by private individuals.



  ACTIVITY 3: SAVING AND THE PRODUCER
 SELF:
 	learners are required to provide possible reasons for saving with regard to the producer.



  ACTIVITY4: CONSUMER AND CAPITAL GOODS
 SELF:
 	CONSUMER GOODS: 



 food, clothing, car, house, furniture, etc.
 	CAPITAL GOODS:



 machinery in factories
 refrigerators in butcheries
 furnaces at ISCOR
 trucks belonging to Pickfords
 cement mixers of building contractors
 	Examples of consumer goods that are capital goods as well;



 company car that is used for private excursions on Sundays, but for promoting sales during the week (by a representative of the company)
 cell phone that is used for private as well as for company calls.
  ACTIVITY 5: CAPITAL GOODS AND INVESTMENT
 GROUP:
 	form groups and provide assistance with identifying appropriate enterprises from the immediate environment. Facilitating awareness of the differences between consumer and capital goods and recognizing the differences as important in this activity.







2.4. Employing technology*
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SUSTAINABLE GROWTH AND DEVELOPMENT
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EMPLOYING TECHNOLOGY



 Technological advancement or development, which comprises the use of improved techniques or methods of production, enable workers to deliver additional outputs or improve production using the same resources. Such improvement reduces the cost of producing goods and services. This means that a smaller input per unit is required in terms of human and physical capital.
 Technological development is achieved by means of investment in capital equipment and research projects. For this reason, development in the field of technology (and science) will require bigger investments and sacrifices in terms of (reduced) consumption.
Activity 1: Technological Developments



 SELF: 
 Create a poster showing the following technological improvements:
 	The replacement of people with machines;

	The course of development from the steam engine to the internal combustion engine to hydroelectric power to atomic power;

	Developments in the field of telecommunication;

	Developments in the field of transport.



 (Select any of the above.)
 These technological developments have resulted in significant changes in the way of life of all people over the past 250 years and have led to an improvement in living standards.
 Technological improvements can take two forms:
 1. INVENTION, which involves the discovery of new products or new processes; and
 2. INNOVATION, which involves practical conversion to new techniques. This can also be seen as the economic application of an INVENTION
 Note:
 	

	INVENTIONS ARE IMPORTANT, BUT THEY REMAIN BRIGHT IDEAS WAITING TO BE IMPLEMENTED IF INNOVATORS DO NOT SHOW THE WAY FOR THEIR IMPLEMENTATIONS.



 Activity 2: Invention and Innovation [LO 2.4]
 Group:
 Do research on:
 	HENRY FORD, who is regarded as the father of the Model T Ford, and

	RAY KROC, who is regarded as the father of McDonalds.



 Decide whether they were inventors or innovators and motivate your decision.
 	Summarize your research:



 Although technological developments have played an important role in promoting material prosperity and improving the standard of living, we have to realise that such development in itself is not adequate for sustainable economic growth. Before modern technology can ensure economic growth, the labour force has to develop appropriate skills to be able to operate and maintain the complicated machines that are developed. Training and the acquisition of basic skills therefore form an important part of the successful implementation of technology. To facilitate this, it is imperative that greater investment in formal and informal training should be realised. 

References:



 	Gwartney, James D ECONOMICS, Private and Public Choice, Sixth Edition

	Stroup, Richard L The Dryden Press, Harcourt Brace College Publishers, Orlando, 1992

	

	





Assessment



 
        Learning outcomes
        (LOs)
      
 LO 2
 
        SUSTAINABLE GROWTH AND DEVELOPMENT
      
 The learner will be able to demonstrate an understanding of sustainable growth, reconstruction and development, and to reflect critically on related processes
 
        Assessment standards
        (ASs)
      
 
        We know this when the learner:
      
 2.1 investigates and describes how the national budget is used to influence growth and redress economic inequalities;
 2.2 investigates how the RDP could have been used to stimulate economic growth and restructuring (e.g. capacity building jobs);
 2.3 discusses the importance of savings for investments;
 2.4 investigates and reports on how technology can improve productivity, economic growth, living standards, etc.

Overview



Assessment standard 2.4:



 ACTIVITY 1: TECHNOLOGICAL DEVELOPMENTS
 Self:
 learners are to make a selection from given examples. They should be encouraged to make free use of appropriate pictures and other representations to illustrate technological developments / improvements.
 ACTIVITY 2: INVENTION AND INNOVATION
 GROUP:
 Let groups do research relating to HENRY FORD and RAY KROC to help them become aware of the extent of the developments related to motor car manufacturing and the fast food industry.
 	HENRY FORD and RAY KROC were innovators.

	HENRY FORD’s contribution has to do with the development of mass production and



 
          RAY KROC’s innovation led to a change in the eating habits of American people, and of most of the people in the world
        



Solutions


Chapter 3. Term 3



3.1. Assets, liabilities and ownership interest*



ECONOMIC AND MANAGEMENT SCIENCES



 

      

Grade 8



 

      

BUSINESS, CONSUMER AND FINANCIAL KNOWLEDGE AND SKILLS



 

      

Module 10



 

      

Assets, Liabilities and Ownership Interest



 Accounting is based on three elements. Assets, liabilities and ownership interest. During every transaction in the business, these three elements interact. It is very important to have a sound understanding of assets, liabilities and ownership interest to be able to make a distinction between them.
ACTIVITY 1: To be able to explain and apply the concept assets [LO 3.1]



 Assets:
 These are the items that are owned by a business and which have value. These assets can be divided into two groups: fixed assets and current assets.
 Fixed assets:
 These are assets in the form of property with a relatively long life and which are used for production or use, rather than for resale, for example land and buildings, vehicles and equipment.
 Current assets: 
 These are assets in the form of cash or assets that can be converted to cash within a short period of time, usually a year, for example:trading stock, debtors, cash in the bank, petty cash and bills.
 Trading stock:
 Goods purchased for the purpose of selling at a profit.
 Debtors:
 People who owe money to the business.
 Division of assets
 	Divide a piece of cardboard or paper in half and paste pictures from magazines on it so that the one half represents fixed assets and the other current assets.



 Recognition of assets
 	Underline those items that will be classified as assets in a business:



 1. Computers
 2. Modern office building
 3. Delivery vehicles
 4. Driver of the delivery vehicle
 5. Creditors
 6. The owner’s personal luxury vehicle
 7. Trained computer personnel
 8. An unattractive building on the business premises that is leased to another business as a storage facility.

ACTIVITY 2: To be able to explain and apply the concept liabilities [LO 3.1]



 Liabilities
 
          These are obligations or debt of one business or person to another business or person.
        
 	When money is borrowed from a financial institution or other business, a liability known as a loan arises.

	When a business uses overdraft facilities on its current account, it owes money to the bank, and this is called an overdrawn bank account.

	Stock or services purchased on credit result in a liability known as creditors.



 Current liabilities
 These are obligations that must be repaid within a period of a year or less, for example creditors.
 Long-term liabilities
 These are liabilities that are repayable over a longer period, for example a loan.
 	
            Answer the following questions: 
          



 1. What does one call the persons to whom the business owes money?
 2. Is the following correct or incorrect?A mortgage loan for the purchase of a building and which is repayable after 20 years is called a current liability. (Answer only Yes or No) 
 3. Is the following correct or incorrect?Trading stock purchased on credit represents a current liability. (Answer only Yes or No)

ACTIVITY 3: To be able to explain and apply the concept ownership interest 



 
          The term ownership interest refers to an interest of the owner in the assets of the business.
        
 	
            
 	

	The owner provides the capital with which the business is started. This capital is employed mainly for the purchase of assets and the payment of liabilities and expenditure.

	The creditors have first claim on the assets for the amounts owing to them. The owner then has a claim to what remains after the liabilities have been paid. 

	The following equation follows from this: 




          

	Assets = Ownership interest + Liabilities orAssets – Liabilities = Ownership interest

	This is known as the accounting equation.



 	
            Complete the following: 
          



 1. If the total assets amount to R10 000 and the total claims (debt) are R4 000, the ownership interest will be R__________
 2. Which of the following represents the accounting equation? Underline the correct answer.
 Assets + Ownership interest = Liabilities
 Assets – Liabilities = Ownership interest
 Assets + Liabilities = Ownership interest
 3. Write down the information below in the form of the accounting equation. Use the amounts to indicate that the accounting equation always balances.
 Equipment  R 6 000 – _______ 
 Creditors R 6 000 – ________
 Cash R10 000 – __________
 Debtors R 4 000 – __________
 Furniture R 4 000 – ________
 Ownership interest  R18 000 – ________
 Answer: 
 4. If any two elements of the accounting equation are known, the missing one can be calculated.
 
          Complete the following: 
        
  A = O + L
 (a) 1 800 = 800 +____________
 (b) 650 = .__________ + 420
 (c) 890 = 240 + .__________
 	_________ = 830 + 560





Assessment



Table 3.1. 	
                Learning Outcomes
                (LOs)
              
	
                LO 3
              
	Management, Consumer and Financial Knowledge and SkillsThe learner will be able to demonstrate knowledge and the ability to apply responsibly a range of managerial, consumer and financial skills.
	
                Assessment Standards(ASs)
              
	
                We know this when the learner:
              
	3.1 differentiates between financial concepts used in business (e.g. fixed assets, current assets, liabilities, owner’s equity);
	3.2 develops leadership and management strategies that will ensure a return on investments;
	3.3 completes source documents (e.g. receipts, deposit slips, cheques) and records elementary cash transactions in a statement of receipts and payments;
	3.4 uses keyboard skills and function keys in developing, storing and retrieving basic information;
	3.5 explains the concept and analyses a statement of net worth;
	3.6 investments the various methods of savings and investments (e.g. savings accounts, fixed deposits, shares, unit trusts), and calculates on a variety of investments.
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 ACTIVITY 1
 Classification of Assets
 FIXED ASSETS
 CURRENT ASSETS
 Land and Buildings
 Trading Inventory
 Equipment
 Cash
 Vehicles
 Money in the bank
 Recognition of Assets
 1. Assets Computers
 2. Assets Modern office building
 3. Assets Delivery vehicles
 4. No
 5. No
 6. No
 7. No
 8. Assets Building that is let
 ACTIVITY 2
 1. Creditors
 2. No
 3. No
 ACTIVITY 3
 1. R6 000 - (R10 000 – R4 000)
 2. Assets – Liabilities = Ownership interest
 3. Assets = O + L24 000 = 18 000 + 6 000
 4. (a) 1 000
  (b) 230
  (c) 650
  (d) 1 390


3.2. Leadership and business strategies*
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Leadership and Business Strategies to ensure Profit



 ACTIVITY 1: To be able to explain and apply the term profit [LO 3.2]
 The nature of profit
 Profit can be regarded as the difference between the income and expenditure of a business.
 It is the amount by which income exceeds the expenditure incurred to produce the income.
 The main objective of anyone who starts a business is to make maximum profit. This profit can be regarded as the owner’s compensation for the use of his capital. The profit he makes must be considerably more than the interest he would have earned if he had invested the money in the bank.
 It is important for the business to be managed in such a way as to ensure a good return on the owner’s capital investment in his business.
 Calculating profit
 In order to calculate the profit, certain information about the business is required. This is obtained from a statement that is usually drawn up at the end of the financial year. The statement contains the income generated during a particular period, as well as the expenditure incurred in order to generate that income. This statement is called an Income Statement.
 When calculating profit, businesses can be divided into two main groups according to the nature of their activities, namely: 
 service enterprises and
 commercial enterprises
 Service enterprises provide a service and earn an income by doing so, for example hairdressers, dry-cleaning businesses, medical practitioners, dentists, etc.
 Commercial enterprises purchase merchandise and sell it at a higher price than the purchase price to make a profit.
 The profit of these businesses can be calculated by doing a simple deduction, namely: 
 Profit = Income – Expenditure
 	Explain in your own words what you understand by the term profit. 




ACTIVITY 2: To be able to explain and apply strategies to ensure a good profit on earnings [LO 3.2]



 Effective leadership and management strategies are used to minimise expenditure and maximise income of a business.
 One strategy is to exercise strict control over expenditure such as telephone, water, electricity, transport costs, stationery and advertising. These expenses must be compared monthly. If there is a significant increase the cause must be found and rectified.
 At the same time the income must be kept as high as possible.
 In a service enterprise, excellent service must be provided at all times, because satisfied clients are the best advertisement for any business.
 In the case of commercial enterprises, the lowest possible purchase price and the highest possible selling price must be negotiated. One needs to compare the prices that other businesses charge for the same product or service.
 A smaller profit margin in the short term could ensure a more sustainable profit in the long term.
 The value of advertising and marketing campaigns must not be underestimated. These can be very expensive so the benefits must be weighed up against the costs.
 Leadership and management strategies aimed at ensuring good returns must be focused on the short term but must also take into account the future of the business in the long term. The primary objective is to make a reasonable profit and maintain a sound financial position in the business.
Group assignment:



 Divide a piece of cardboard in two and paste pictures of service enterprises on one half and commercial enterprises on the other half. Choose one service enterprise and one commercial enterprise on your poster and write down points that the management of each must take into consideration in order to ensure a good profit on their earnings.

ACTIVITY 3: To be able to record transactions and calculate ownership interest and profit



 	
            Complete the table using the information below
            .
          



 Transactions of Dixon Dry Cleaners, owner D. Dixon.
 1. D. Dixon started a business called Dixon Dry Cleaners by depositing R50 000 in the current bank account of the business.
 2. He pays the municipality R500 for a trade licence by cheque 001.
 3. He leases a building from Ena Properties and pays R1 000 by cheque 002.
 4. A delivery vehicle is purchased from Rennie Motors and R52 000 is paid by cheque 003.
 5. Stationery is purchased from Stationery Ltd. and pays R70 by cheque 004.
 6. Cheque 005 for R500 is issued to Cleaning Material Distributors for cleaning material.
 7. Cash received for services provided as per cash register roll, is R3 520.
 8. Telephone account of R180 is paid to Telkom by cheque 006.
 9. Cheque 007 for R15 000 is issued to Elke Dealers for equipment purchased.
 10. The municipality is paid R600 by cheque 008 for water and electricity.
 11. Cheque 009 for R900 for the payment of wages is cashed.
 12. Cash received for services provided as per the cash register roll, is R2 100.
 13. An industrial dry cleaning machine for the provision of services is purchased from Industrial Ltd. and R3 000 is paid by cheque 010.
 14. Cash received for letting a section of the building is, R2 500.
 Table for Dixon Dry Cleaners’ transactions 
 (a) Indicate the effect of the transactions on the assets and ownership interest.
 (b) Calculate the total income.
 (c) Calculate the total expenditure.
 (d) Calculate the profit.
Table 3.2. 	(a)	NUMBER	ASSETS	OWNERSHIP INTEREST 	 
	 	 	 	 	(b)…………………………….
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	(c)
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	(d)
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 




Assessment



 
        Learning Outcomes
        (LOs)
      
 
        LO 3
      
 
        Management, Consumer and Financial Knowledge and Skills
      
 The learner will be able to demonstrate knowledge and the ability to apply responsibly a range of managerial, consumer and financial skills.
 
        Assessment Standards(ASs)
      
 
        We know this when the learner:
      
 3.1 differentiates between financial concepts used in business (e.g. fixed assets, current assets, liabilities, owner’s equity);
 3.2 develops leadership and management strategies that will ensure a return on investments;
 3.3 completes source documents (e.g. receipts, deposit slips, cheques) and records elementary 
 cash transactions in a statement of receipts and payments;
 3.4 uses keyboard skills and function keys in developing, storing and retrieving basic information;
 3.5 explains the concept and analyses a statement of net worth;
 3.6 investments the various methods of savings and investments (e.g. savings accounts, fixed deposits, shares, unit trusts), and calculates on a variety of investments.

Memorandum



 ACTIVITY 2
 SERVICE ENTERPRISES
 COMMERCIAL ENTERPRISES
 Hairdresser
 Hardware store
 Medical practitioner
 Pharmacy
 Plumber
 SPAR
 Electrician
 Clothes shop
 Provide good service
 Ask competitive prices
 High income
 Expenditure as low as possible
 Good prices
 Good quality products
 Attract clients with special offers
 Large profits
 ACTIVITY 3
 (a)
 NUMBER
 ASSETS
 OWNERSHIP INTEREST
 
        1
      
 +50 000
 +50 000
 
        2
      
 -500
 -500
 
        3
      
 -1 000
 -1 000
 
        4
      
 +52 000
 - 52 000
 
        5
      
 -70
 -70
 
        6
      
 -500
 -500
 
        7
      
 +3 520
 +3 520
 
        8
      
 -180
 -180
 
        9
      
 +15 000
 - 15 000
 
        10
      
 -600
 -600
 
        11
      
 -900
 -900
 
        12
      
 +2 100
 +2 100
 
        13
      
 +3 000
 - 3 000
 
        14
      
 + 2 500
 +2 500
 (b) R8 120
 (c) R3 750
 (d) R4 370


3.3. Methods of saving and calculating returns*
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Methods of saving and calculating returns



ACTIVITY 1: To be able to discuss methods of saving and investing, and to be able to calculate the returns [LO 3.6]



 Saving 
 This is keeping of a portion of your income so as not to spend it
 Instead of using your total income to pay for goods and services, a portion can be withheld, (saved). 
 When planning the financial affairs (budget) of a family or business, it is important to plan for saving. This is necessary for planned, as well as unforeseen, expenses that may occur.
 There are various ways of saving money so that it can yield a return at the same time. Money can be invested in a savings account at a financial institution, where it will earn interest for the owner. The interest is calculated as a percentage, which may differ from bank to bank. Anyone who is saving money should invest it where the highest interest can be earned.
 Savings can also be invested in a fixed deposit. The money is invested at a fixed interest rate for a longer period. As the financial institution can use the money for a longer period of time, they are willing to pay higher interest than for a savings account. The longer the investment term, the higher the interest on a fixed deposit. Interest can be received monthly, quarterly, half-yearly, yearly, or when the investment term expires. In this way a regular income can be ensured. At the end of the predetermined investment term, the investor can decide whether he wants to end his fixed deposit or invest for a further term.
 Before one can invest one needs to save.
 Investment: 
 
          Money can be invested in an institution to make a profit
          , for example, buying shares. This is called investment.
        
 Companies raise share capital (money) by selling shares in the company to the public. By purchasing shares in a company, one owns a small piece of that company and shares in its profit. The part of the profit paid to shareholders is called a dividend.
 The holders of preference shares receive a fixed dividend percentage and have their dividends paid first. Ordinary shareholders only get dividends once preference shareholders have been paid and they do not receive a fixed dividend percentage.
 The value (price) of some shares increases because the company does well. There are also shares which decrease in value because that company is not as profitable.
 The art of investing in shares and the buying and selling thereof lie in the ability to buy shares, the prices of which later increase, at a low price and selling shares, the prices of which fall, at the right time.
 Investing all ones money in only one investment is very risky. For example, if you invest all your money in gold shares and the price suddenly falls, you might not be able to sell them for what you paid. When money is invested in a fixed deposit, the interest rate is fixed. You will not benefit if interest rates increase during your investment term.
 Beacause of such risks, it is advisable to invest in more than one product to spread the risks. This can be very expensive. A possible solution lies in investing in unit trusts. This method of investing enables the ordinary investor to invest his money, along with other investors, in a variety of products, for example, shares. Unit trusts sometimes offer a higher return and a better balance because the return consits of dividends, interest and capital growth.
 The calculation of returns on various savings methods
 Interest is the price paid for the use of someone else’s money. Don’t confuse this with owners interest.
 The percentage at which interest is calculated over a period of time is known as the interest rate.
 ASSIGNMENT: 
 Gather information on the interest rates of various savings methods at different banks and compare them by answering the following questions in the table.
 1. Calculate the interest that a person would earn if he saved R5 000 over a period of one year.
 2. Calculate the interest that a person would earn if he saved R5 000 over a period of 18 months.
Table 3.3. 	FINANCIAL INSTITUTION	SAVINGS METHOD		INTEREST YIELD
	1 YEAR	18 MONTHS


	 	 	 	 
	 	 	 	 
	 	 	 	 
	 	 	 	 
	 	 	 	 




Assessment



Table 3.4. 	Learning Outcomes(LOs)
	LO 3
	Management, Consumer and Financial Knowledge and SkillsThe learner will be able to demonstrate knowledge and the ability to apply responsibly a range of managerial, consumer and financial skills.
	Assessment Standards(ASs)
	We know this when the learner:
	3.1 differentiates between financial concepts used in business (e.g. fixed assets, current assets, liabilities, owner’s equity);
	3.2 develops leadership and management strategies that will ensure a return on investments;
	3.3 completes source documents (e.g. receipts, deposit slips, cheques) and records elementary cash transactions in a statement of receipts and payments;
	3.4 uses keyboard skills and function keys in developing, storing and retrieving basic information;
	3.5 explains the concept and analyses a statement of net worth;
	3.6 investments the various methods of savings and investments (e.g. savings accounts, fixed deposits, shares, unit trusts), and calculates on a variety of investments.
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 ACTIVITY 1:
 [image: Figure (graphics1.png)]

Figure 3.1. 



3.4. Depositslip as a source document*
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DEPOSIT SLIP AS A SOURCE DOCUMENT



ACTIVITY 1: To be able to name the types of source documents to be recorded, and their uses [LO 3.3]



 When accounting transactions are recorded, source documents are used. These documents provide the information necessary to record transactions in the books. They also serve as proof that the transactions did take place.
 In the case of cash transactions the following source documents are used: 
 Cheque book counterfoils when payments are made by cheque.
 Receipts when cash is received.
 Cash register roll in the case of cash sales.
 Cash invoices in the case of cash purchases and cash sales.
 Bank deposit slips when cash is deposited into a bank account.
 In the case of credit transactions the following source documents are used: 
 Credit invoices in the case of credit purchases of assets and trading stock, as well as in the case of credit sales of trading stock.
 ASSIGNMENT:
 Collect examples of the following source documents:
 Cheques
 Receipts
 Invoices
 Bank deposit slips
 Paste the documents onto A4 sheets of paper and indicate for which type of transaction each document is used. Next to each type of document also indicate the information that appears on that document. Use the completed assignment for your portfolio.

ACTIVITY 2: To be able to use a deposit slip as a source document [LO 3.3]



 Study the completed deposit slip:
 [image: Figure (graphics1.png)]

Figure 3.2. 

 Obtain a blank deposit slip from any bank and complete it by filling in the following information:
 Mr P. Tredoux is the owner of PT Services situated at 12 Napier Street, Paarl. On 1 June 2002 he deposits money in the current bank account of the business. The number of this account is 123-456-789.
 The deposit is made up as follows: 
 3 x R50-notes
 Nickel to the value of R75.

ACTIVITY 3: To be able to record cash received [LO 3.3]



 For control purposes, all cash received in a business is recorded in a journal called the cash receipts journal (CRJ).
 The following are types of transactions involved in the receipt of cash:
 1. Cash that the owner of the business deposits in the bussiness’s bank account as his capital contribution.
 2. Cash received for services provided.
 3. Rental income received for letting a building or part of the building.
  When the owner pays capital into the business, he is issued with a receipt. The copy of this receipt is used for the entry in the CRJ.
 The following information must be provided on the receipt in order to be able to make an entry in the CRJ:
 Date
 Receipt number
 The owner’s name
 The amount paid in
 Reason for which the money was paid in
 The copy of the bank deposit slip completed to deposit the capital sum directly into the current account of the business, can also be used as a source document.
 Study the entry in the CRJ (example 1), which shows how such a transaction is recorded.
 On 1 January 2003 the owner, J. Jolie, deposits R50 000 as capital contribution in the bank account of a business called Salon Jolie. (See example 1.)
 Income for services provided
 The money received by a business for services provided (also known as current income), is usually received by means of a cash register and the cash-register roll serves as record and source document. The money received can also be recorded in an invoice book and the copy of the cash invoice will then serve as source document.
 The completed CRJ shows how the type of transaction is recorded. (See example 1.)
 Salon Jolie’s current income for January has been obtained from the cash register roll and is as follows: 
 Jan. 4 R400
 Jan. 10 R540
 Jan.  15 R680
 Use the blank cash receipts journal on the next page (CRJ 3.3) to record the cash transactions below.
 Enter the totals in the columns.
 Mr Peter Pipe starts a plumbing business called Pipe Plumbers and deposits R10 000 as capital in the current account of the business on 1 July 2002. During July he provided plumbing services and earned the following as current income:
 5 July R1 500
 15 July R2 000
 25 July R1 800


Example 1



CASH RECEIPTS JOURNAL OF SALON JOLIE – JANUARY 2003



Table 3.5. 	Doc.	Day	Details	Fol.	Analysis	Bank	Current income	 	 		Sundries accounts
	Amount	Fol.	Details


	Deposit slip	1	J. Jolie	 	 	 	50 000	00	 	 	 	 	 	 	50 000	00	 	Capital
	CR	4	Services provided	 	400	00	400	00	400	00	 	 	 	 	 	 	 	 
	CR	10	Services provided	 	540	00	540	00	540	00	 	 	 	 	 	 	 	 
	CR	15	Services provided	 	680	00	680	00	680	00	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	51 620	00	1 620	00	 	 	 	 	50 000	00	 	 



CASH RECEIPTS JOURNAL OF .................................................. – ......................... 20......CRJ 3.3



Table 3.6. 	Doc.	Day	Details	Fol.	Analysis	Bank	Current income	 	 		Sundries accounts
	Amount	Fol.	Details


	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 	 




Assessment



Table 3.7. 	Learning Outcomes(LOs)
	LO 3
	Management, Consumer and Financial Knowledge and SkillsThe learner will be able to demonstrate knowledge and the ability to apply responsibly a range of managerial, consumer and financial skills.
	Assessment Standards(ASs)
	We know this when the learner:
	3.1 differentiates between financial concepts used in business (e.g. fixed assets, current assets, liabilities, owner’s equity);
	3.2 develops leadership and management strategies that will ensure a return on investments;
	3.3 completes source documents (e.g. receipts, deposit slips, cheques) and records elementary cash transactions in a statement of receipts and payments;
	3.4 uses keyboard skills and function keys in developing, storing and retrieving basic information;
	3.5 explains the concept and analyses a statement of net worth;
	3.6 investments the various methods of savings and investments (e.g. savings accounts, fixed deposits, shares, unit trusts), and calculates on a variety of investments.



Memorandum



 ACTIVITY 1
 Cheque - Is used for cheque payments. Serves as proof of payment.
 DateAmount in words and figuresName of payeeSignature of drawer
 DateAmount Cheque counterfoilPayeeReason for payment
 Receipt - Serves as proof of cash payment 
 Date From whom money was receivedReason for paymentAmount in words and figuresSignature of person who issued receipt
 Invoices - Are used in the case of cash or credit sales and purchases
 Invoice numberDate Name of buyer or seller in the case of cash transactionDescription of goodsUnit price and total price
 Bank deposit slip - Is completed when money is deposited in bank account
 DateName of account holderBranch numberAccount numberReference numberExplanation of cashInformation with regard to cheque depositDetails of depositorSignature
 ACTIVITY 2
 Learners may use a deposit slip from any bank. Please ensure that it is completed in full, and go through it with them. Explain the terms/concepts, e.g. branch number, depositor (and why the depositor’s details must be provided).
 ACTIVITY 3
CASH RECEIPTS JOURNAL OF PIPE PLUMBERS - JULY 2003CRJ 3.3



Table 3.8. 	Doc	Day	Details	Fol	Analysis	Bank	Current income	 	 		Sundries account
	Amount	Fol	Details


	 	1	Peter Pipe	 	 	-	10 000	-	 	 	 	 	 	 	10 000	-	 	Capital
	CR	5	Services provided	 	1 500	-	1 500	-	1 500	-	 	 	 	 	 	 	 	 
	CR	15	Services provided	 	2 000	-	2000	-	2000	-	 	 	 	 	 	 	 	 
	CR	20	Services provided	 	1 800	-	1 800	-	1 800	-	 	 	 	 	 	 	 	 
	 	 	 	 	 	 	15 300	 	5 300	 	 	 	 	 	10 000	-	 	 





3.5. The net value of the business and the accounting equation*
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The net value of the business and the accounting equation



ACTIVITY 1: 



 

        

To calculate the ownership interest of the business [LO 3.5]



 If the owner of a business decides to sell the business, the price he wants for it will probably be equal to the net value. The net value is linked to the owners interest in the bussiness.
 The assets of the business represent value. The owner of the business can claim whatever remains once the creditors have been paid. This can be expressed in the basic accounting equation, namely Assets = Ownership interest + Liabilities.
 The firm, AJAX Dealers, owned the following assets: 
 Cash in bank - R 580
 Land and buildings - R130 000
 Furniture - R 6 785
 Office equipment - R7 800
 Debtors - R5 000
 Delivery vehicle - R50 000
 The firm owes the following amounts: 
 Cumpen Bookshop - R8 400
 CD Equipment - R2 900
 ELFI Furniture - R1 765

ACTIVITY 2: 



 

        

To calculate the effect of transactions on the accounting equation 



 

        

[LO 3.5]



 Every day transactions are concluded in the business world. These are events that can be measured in terms of money. These transactions, are the transfer of value from one party to another and always have an effect on the accounting equation.
Table 3.9. 	TYPE OF TRANSACTION	EFFECT ON ACCOUNTING EQUATION
	1  Capital contribution by the owner	1 Assets +Cash in bank increases Ownership interest +Capital increases
	2 Withdrawal of capital by the owner (taking the money of the business for own use)	2 Assets –Cash in bank decreases Ownership interest –Withdrawals increase, reducing the capital
	3 Purchase of assets for cash	 	Assets +Assets purchased, e.g. equipment, vehicles etc., increase



Assets –Cash in bank decreases
	4 Payment of expenditure such as telephone, licence, water and electricity	4 Assets –Cash in bank decreases Ownership interest –Expenditure such as telephone, rental, licence, etc. increase, reducing the owner’s profit
	5 Receipt of money for services provided	5 Assets+Cash in bank increases Ownership interest +Income increases. Current income increases, increasing the owner’s profit



ASSIGNMENT 1:



 Indicate the effect of the following transactions in the table:
 1 The owner deposits R5 000 in the bank account of the business.
 2 The business purchases equipment to the value of R2 000 for cash.
 3 The business receives R2 500 for services provided.
 4 Pays office rental of R1 000 for the month.
 5 The owner draws a business cheque for his own use, R200.
 Show that the accounting equation still balances..
Table 3.10. 	No.	Assets:Influence	Assets:Reason	Owner’s equity: Influence	Owner’s equity:Reason
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 



Assignment 2



 Analyse the following transactions of Situ Dealers using the columns in the table below:
 1 A building is purchased from Kalahari Ltd. and R17 000 is paid by cheque.
 2 Caledon Suppliers are paid R163 by cheque for cleaning materials.
 3 The owner, W. Wilmans, deposits additional capital of R5 000.
 4 W. Wilmans draws a business cheque of R250 to pay for repairs to his house.
 5 R1 000 rental for offices is paid.
 6 He pays R500 to Eskom for electricity.
 7 R850 is received for services provided.
Table 3.11. 	No.	Assets:Influence	Assets:Reason	Owner’s equity: Influence	Owner’s equity:Reason
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 
	 	 	 	 	 




Assessment



Table 3.12. 	Learning Outcomes(LOs)
	LO 3
	Management, Consumer and Financial Knowledge and SkillsThe learner will be able to demonstrate knowledge and the ability to apply responsibly a range of managerial, consumer and financial skills.
	Assessment Standards(ASs)
	We know this when the learner:
	3.1 differentiates between financial concepts used in business (e.g. fixed assets, current assets, liabilities, owner’s equity);
	3.2 develops leadership and management strategies that will ensure a return on investments;
	3.3 completes source documents (e.g. receipts, deposit slips, cheques) and records elementary cash transactions in a statement of receipts and payments;
	3.4 uses keyboard skills and function keys in developing, storing and retrieving basic information;
	3.5 explains the concept and analyses a statement of net worth;
	3.6 investments the various methods of savings and investments (e.g. savings accounts, fixed deposits, shares, unit trusts), and calculates on a variety of investments.



Memorandum



 ACTIVITY 1:
 Ownership interest = A – L
  O  = 200 165 – 13 065
  O = 187 100
  187 100 = 200 165 – 13 065
 ACTIVITY 2:
 ASSIGNMENT 1
Table 3.13. 	No.	Assets:Influence	Assets:Reason	Owner’s equity: Influence	Owner’s equity:Reason
	1.	+5 000	Cash in bank increases	+5 000	Ownership interest increases as a result of increase in capital
	2.	+2 000	Equipment increases	 	 
	 	-2 000	Cash in bank decreases	 	 
	3.	+2 500	Cash in bank increases	+2 500	Profit increases as a result of increase in current income
	4.	-1 000	Cash in bank decreases	-1 000	Profit decreases as a result of increase in expenditure
	5.	-200	Cash in bank decreases	-200	Ownership interest decreases as a result of decrease in capital
	 	 	Assets = Ownership interest 6 300 = 6 300	 	 


 ASSIGNMENT 2
Table 3.14. 	No.	Assets:Influence	Assets:Reason	Owner’s equity: Influence	Owner’s equity:Reason
	1.	+17 000	Buildings increase	 	 
	 	-17 000	Cash in bank decreases	 	 
	2.	-163	Cash in bank decreases	-163	Expenditure increases, profit decreases
	3.	+5 000	Cash in bank increases	+5 000	Capital increases, ownership interest increases
	4.	-250	Cash in bank decreases	-250	Capital decreases, ownership interest decreases
	5.	-1 000	Cash in bank decreases	-1 000	Expenditure increases, profit decreases
	6.	-500	Cash in bank decreases	-500	Expenditure increases, profit decreases
	7.	+850	Cash in bank increases	+850	Income increases, profit increases
	 	 	Assets = Ownership interest	 	 
	 	 	3 937 = 3 937	 	 




Solutions


Chapter 4. Term 4



4.1. What is an entrepreneur?*
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WHAT IS AN ENTREPRENEUR?



ACTIVITY 1: To identify the characteristics of an entrepreneur and to apply them to ourselves. [LO 4.2]



 Read the following story about a successful entrepreneur.
 SOURCE
 An entrepreneur’s story of a difficult start in a grimy butchery
 “WORK YOUR FINGERS TO THE BONE”
 “My success came after I had worked my fingers to the bone and because I never became greedy.”
 This is the secret of Mr Leon Slabbert, owner of the Cuyler Butchery in Uitenhage.
 After finishing his schooling, Mr Slabbert obtained a degree in personnel management. He then worked in his father, Levi’s, butchery for ten years.
 “My father is a perfectionist and therefore he is very particular about tidiness, quality and service. He taught me all about the select cuts and everything else I know. Thanks to him I am a disciplined person,” says Slabbert.
 In August 1988 he decided: “Nothing ventured, nothing gained.” He sold his house and most of his other possessions and bought the Cuyler Butchery, which at that time was grubby and shabby. 
 Slabbert found it difficult to get loans from the banks, because he had no insurance. Some of his creditors showed him some mercy, but others simply had to wait for him to make enough money to pay them. 
 In the early nineties the political situation in the country influenced many people and businesses and Slabbert had to keep his head above water despite various threats. “In the first five years I just had to do crisis control most of the time to keep my business going. Competitors didn’t make it any easier for me to get my business to grow, and I had to do everything in my power in order to survive,” he says.
 “Those were difficult years. I started with three staff members and did all the administration, daily chores and cutting of the meat. I had to make the sausages on my own. I also scrubbed the floors. 
 “I did not even have a proper cash flow that I could use for change and a friend lent me a lorry with which to transport my meat. A car was out of the question. There was no money 
 for petrol and I had to walk to work. My wife, Wilhma, was the owner of a hairdressing salon and she also had to work overtime to get her own business going,” says Slabbert.
 His wife is now a director of the butchery and owns shares in it.
 “Besides being in control of the administration of the business I am involved in every aspect of the butchery, from washing floors to cutting up meat.
 “I was a hairdresser for 18 years and I found it difficult to give up this work, but my husband needed me and I supported him,” she says.
 She regards her husband as being very honest and straightforward, and says that he has self-respect and respect for his fellowmen.
 “All of these are qualities that have contributed to his success. He knows the meat industry and if he knows that lamb is going to be cheaper next week, he will not allow a customer to buy a whole lamb now, when it is more expensive,” she says by way of an example of his attitude towards his clients.
 His hard work from the start was not without its rewards and within the first three months he had doubled the previous owner’s turnover. A year later he had fully repaid his debts to both the bank and his father and was still satisfied to make do with a meagre monthly salary.
 ”One of the most important reasons for the success of my enterprise is that I am honest towards my clients. That makes them trust me. I am also honest towards my employees and I pay them well.
 ”I reinvested my surplus in my business and bought machinery, a bakkie and larger refrigerators,” Slabbert recounts.
 He built a house for which he paid cash and never incurred any debt again. In 1996 he bought his own building and presently provides employment for 45 people. During the festive seasons he needs more staff, because his products are in great demand.
 “If you look after your people, they will look after you. I get offers of meat from all over the country because my butchery has such a good reputation,” says Slabbert.
 At present Slabbert is building his own factory where he will process his meat. He is already a bulk supplier to local supermarkets and various butcheries as well as to other smaller shops.
 “Besides the fact that you have to be tough and resourceful when you start your own business, there are also other factors that must be taken into account. It isn’t really a good idea to borrow money, because your debt simply doubles with all the interest you have to pay. 
 “My advice to beginners would be to start off a business with a large investor who can be trusted. The alternative, if you have no money, is to start small, as I did. To start on a smaller scale is more difficult, but in the end you are your own king.”
 (Source: Die Burger, 5 July 2003 - translated)
 Write down five reasons why Slabbert was successful, and that have a direct bearing on him as a person. Give an example in each case.

Class discussion



 	Discuss each other’s lists and draw up a joint list of ten qualities that are essential to an entrepreneur. Do it as rough work (on your own paper), discuss it with your teacher, and write down the final list. 



 Now use the list to evaluate yourself as a possible entrepreneur. Mark the qualities that you have already observed in yourself by placing a tick in the right-hand column next to each relevant quality. Award yourself a mark out of 10.


Assessment



Table 4.1. 	
                Learning Outcomes
              
	
                (LOs)
              
	
                LO 4
              
	Entrepreneurial Knowledge and SkillsThe learner will be capable of demonstrating entrepreneurial knowledge, skills and attitudes.
	
                Assessment Standards(ASs)
              
	
                We know this when the learner:
              
	4.1 identifies financial institutions and organisations promoting entrepreneurship;
	4.2 discusses different ideas for starting a business (including ideas to attract tourists, franchising);
	4.3 differentiates between the forms of ownership in both the informal and the formal sectors (sole ownership, close corporation);
	4.4 evaluates the financial viability of a business (e.g. initial costs, production costs, sales and profit); and
	4.5 engages in a business activity that involves purchasing, production and marketing (should involve financing of business with own or borrowed capital – e.g. bank overdraft).



Memorandum



 ACTIVITY 1
 	The class discussion on the characteristics of an entrepreneur should elicit interesting contributions to this important topic. It is important that you allow the learners to argue the topic from their perspective. However, the newspaper report is but one of many examples that can be used as a point of departure. Learners should be allowed to contribute by recounting other relevant stories.

	Ultimately, however, the learners must include the following characteristics that have been identified through research:



 CHARACTERISTICS OF AN ENTREPRENEUR
 1. Continuously seeks and utilises new opportunities.
 2. Can persevere and is tenacious: for instance, will make personal sacrifices and try again and again if there are hurdles along the way.
 3. Is committed: accepts responsibility, but is willing to work alongside the other team members, and to work just as hard as they do.
 4. Demands quality and effectiveness.
 5. Takes chances: Is willing to take calculated risks.
 6. Works singlemindedly: Sets short-term goals that are set on longer-term objectives (almost a vision).
 7. Plans thoroughly, works systematically and monitors regularly.
 8. Constantly looks for new information and establishes networks: therefore knows the needs of the market and is aware of competitors’ activities.
 9. Believes in what he/she does and has the ability to convince others.
 10. Has self-confidence and believes in him-/herself. 10. Has self-confidence and believes in him-/herself.


4.2. What are the origins of a business venture?*
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WHAT ARE THE ORIGINS OF A BUSINESS VENTURE?



ACTIVITY 1: 



 
          
        

To identify and describe a business idea



 
          
        

[LO 4.2, 4.3] 



 Select any existing business in your own environment and give information about the business in terms of the headings below. You will probably find it necessary to talk to the owner or manager in order to get the information.
 1. Name:
 2. Owner: 
 3. Main products that are sold or service that is offered.
 4. Where the products come from or where it/they are manufactured.
 5. What is required in order to produce the products or to provide the service.
 To find a business idea:
 The information you gave about the enterprise that you have chosen shows that the following points are always applicable to a business and should be taken into account when considering a business idea:
 A specific product (or collection of products) or service must be offered.
 The manufacturing or sourcing of the product(s), or provision of the service, must be sustained.
 There must be buyers who want to source the product or service and who can pay for it.
 Creative thinkingis essential. An entrepreneur does not imitate, but does something new or improves upon something that already exists.
 The actions taken by an entrepreneur can be divided into different groups. The following is a broad division within which further subdivisions can be made:
 Something that already exists and is readily available and plentiful can be used for something else (new purpose). For example: Someone decided to buy the pieces of broken brick that cannot be used in masonry on a building site and used it for paving at a price which no other paving businesses could match. It was a great success.
 Something that already exists can be altered by way of an improvement (improvement). The development of the microchip in computer technology is a good example. Another example is the reduction in size of huge computers that filled a whole room, to personal computers (desktops) and later to laptops. A totally different example is where a shop owner decides to diversify by expanding his range of products. He improves upon his existing service.
 Something new can be developed that altogether replaces something that is available on the market (substitution). At present plastic lenses for spectacles are replacing the older type of glass lenses.
 Now it is your turn to think of examples. Write them down.
 	New purpose

	Improvement

	Substitution




ASSIGNMENT:



 Think about an enterprise that you would like to start within the next month. It should be viable in terms of the three points above. It could be something that you do at school, or during weekends.
 Research and describe the idea fully. Make rough notes first and then write down the final attempt.
 My business idea:
 	Product or service (indicate whether it is going to be a new product, improvement or substitution)



 	Manufacturing and/or sourcing



 	The market (who is going to buy, why, and why they will be able to afford it)



 	Marketing strategy





Assessment



Table 4.2. 	
                Learning Outcomes
              
	
                (LOs)
              
	
                LO 4
              
	Entrepreneurial Knowledge and SkillsThe learner will be capable of demonstrating entrepreneurial knowledge, skills and attitudes.
	
                Assessment Standards(ASs)
              
	
                We know this when the learner:
              
	4.1 identifies financial institutions and organisations promoting entrepreneurship;
	4.2 discusses different ideas for starting a business (including ideas to attract tourists, franchising);
	4.3 differentiates between the forms of ownership in both the informal and the formal sectors (sole ownership, close corporation);
	4.4 evaluates the financial viability of a business (e.g. initial costs, production costs, sales and profit); and
	4.5 engages in a business activity that involves purchasing, production and marketing (should involve financing of business with own or borrowed capital – e.g. bank overdraft).




4.3. How feasible is my business?*
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How feasible is my business?



 ACTIVITY 1: 
 To determine the financial viability of the business idea.
 [LO 4.4] 
 Up to now we have looked at the business idea in terms of the product, its manufacture and assessment, the market (the buyers) and the way in which we are going to get the buyers to buy the product (marketing strategy). However, now we must make sure that the idea is actually financially viable. A business is only viable if it shows a profit. That means that we should not sell our product or service at a loss and that the breakeven point (the number of items or service contracts that we have to sell in order to break even) is realistically attainable.
 
        To be capable of doing that, we need to look at the following:
      
 	the selling price;

	the direct cost of creating the product or service;

	the costs involved in running the business (e.g. transport and marketing).



 The selling price
 The selling price is determined provisionally beforehand on the basis of market research. The research is used to determine which similar products or services exist and what they cost.
 The cost of the product
 A product cannot easily be created without any costs. For example, even if spring water is drawn and sold, the containers (bottles) still cost money.
 Operating costs
 Operating costs include anything that is needed to keep the business going, such as transport, salaries, marketing, postage, telephone costs, and so on.
 Let us do a calculation to determine the viability of a specific business idea. Let us assume that we are going to sell hot dogs at an athletics meeting. It will be only a small meeting and we think we’ll be able to sell 100 hot dogs. After doing some research we decide that R6,00 is an acceptable price. The frankfurters cost R3,00 each and the rolls are R0,60 each. The various sauces that we’ll need cost R25,00. We find out that we’ll have to rent a stall at R50,00 and that we’ll need 20 posters at R8,00 each to market the stall.
 
        This is what our calculation will look like:
      
 Sales: 100 hot dogs @ R6,00 each = R600,00
 Cost of products: 100 hot dogs @ R2,75 each, and sauce @ R25,00 = R300,00
 Gross profit as first indicator (sales less cost of product) = R300,00
 Operating costs: Stall @ R50,00 and 20 posters @ R8,00 each = R210,00
 Operational profit = R 90,00
 It seems, therefore, that the enterprise will be profitable. The selling price, as provisionally determined taking into account the market indicators, can thus remain unchanged. If the calculation did not show a profit, we could have considered adjusting the selling price upwards.
 There are important tests that have to be done to ensure that the project is truly viable: we have to determine where the breakeven point is in case we are not able to reach the goal of selling 100 hot dogs. 
 
        ASSIGNMENT:
      
 Determine the financial viability of your business idea by carrying out the above steps, using your data.
ACTIVITY 2: To discuss the different kinds of ownership of a business.



 
          
        

[LO 4.3]



 When you plan to start a business you must decide to whom the business will belong.
 There are mainly four options: you as individual could be the owner, you could establish a close corporation, you could create a company or you could take up a franchise.
 Option 1: you assume ownership as individual
 You can own the business in your personal capacity. That means that you as person
 will be taxed on any profits of the business (maximum 40%), and
 will be held accountable for debts that are incurred by the business (which means that, should the business not be in a position to pay the debts, you could lose your possessions and means of livelihood).
 You could also invite other people to become co-owners, but that is dangerous, because there is always the possibility of misunderstandings and tension in the management of the business.
 Option 2: you establish a close corporation
 You become a member of the corporation and your personal assets are protected. Your accountability for any debts of the corporation does not exceed the amount of capital that you contributed. The income tax is fixed at 30%, which is substantially less than in the case of an individual. You can also allow other people to become members, which means that you obtain additional financial support and do not stand alone. A close corporation functions in terms of a specific law so the interests of all the members are protected. The books of a CC must be done by a chartered accountant. There can be 1 to 10 members.
 The name of a close corporation always ends in CC, for example Laser Services CC.
 Option 3: you create a private company
 A company is managed in terms of a specific law. There are a number of requirements that do not apply to a close corporation. There must be a board of directors and the names of the board members must be made available to the Public Registrar of Companies. Fully audited annual statements must be submitted annually. Annual general meetings must be held according to prescribed guidelines. All these requirements make the process of establishing a private company quite expensive. The name of a private company ends in (Pty) Ltd.
 Option 4: you take up a franchise 
 A franchise has many advantages for an individual. He gets his own business, but has the support of the group and shares in advantages such as purchasing stock at lower prices, having access to tried and tested recipes (e.g. in the case of a restaurant), etc. Well-known names such as SPAR and 7-Eleven are examples of franchises.
 The following report from Die Burger about someone who started a successful business on a franchise basis illustrates the advantages of this option.
 SOURCE
 FROM SCRUBBING FLOORS TO RESTAURANT OWNER
 Nellie Brand
 Ms Jessica July is the only black owner of a Juicy Lucy shop in the Western Cape.
 Last year, when she took over the shop, she was the only black owner of a Juicy Lucy shop in the entire country. This businesswoman, who had to struggle to obtain a bank loan to buy her Juicy Lucy shop in the Kenilworth Shopping Mall, intends to buy two more of these shops soon.
 July, who was born in Guguletu, is regarded as a text-book case of someone who started with nothing and now owns a small business that is profitable. 
 This month July was named entrepreneur of the month by Business Partners, an organisation that invests in entrepreneurs. This organisation helped her to get financing when the banks would not help her.
 July, who started working as a “kitchen assistant” at a Juicy Lucy outlet 27 years ago, got the opportunity to buy the Kenilworth shop from her previous employers in 2001. She had been working there for 10 years and even managed the shop. 
 She says Colleen and Jeremy Chennells, who wanted her to buy the shop, were sent to her by God. “When they came into my life the lights turned green for me,” she says. By that time she already had shares in the business. However, her greatest problem was to get financing to buy the business.
 She believes that she is a shining example of what people from previously disadvantaged communities can achieve if they want to. When she passed matric so many years ago, she could get no other work. She says people must realise that it depends solely on yourself what you achieve in life.
 She started working for the first franchise holder of a Juicy Lucy shop in Cape Town as a 22-year-old mother. Within a few years she had progressed from scrubbing floors and washing dishes to assistant manager and finally she was promoted to manager.
 It was also her job to open new Juicy Lucy shops and to manage them for a month until their business was in order. One of her major achievements was when, as manager, she won R5 000 in 1985 for the shop that showed the greatest growth, as well as for the cleanest shop with the best service.
 Some of her clients are regular visitors who are on first name terms with her. She manages her shop herself and still wears the plum-coloured, checked Juicy Lucy manager’s uniform. She wears a tag with “Jessica July: Manager” on it. July is convinced that her success can be ascribed to the fact that she is personally involved in the day-to-day running of the shop as manager. “I am part of the staff,” she says. This is also one of the hints she gives to shopkeepers – “Don’t sit at home. Rather manage the place yourself.”
 According to her the shop has shown a 22% growth in turnover during the past two years. She employs six permanent workers and two casual workers.
 Now July is interested in two more shops. She has been with Juicy Lucy for almost as long as this chain of shops, which was introduced as a healthier alternative to fast food restaurants, has been in existence.
 She says she would never have thought that she would own a Juicy Lucy.
 (Source: Die Burger, 3 July 2003 - translated)
 QUESTIONS:
 1. Name the advantages that a CC offers an entrepreneur.
 2. Explain why it might be advantageous to take out a franchise if one wants to start a business. Mention one possible disadvantage.


Assessment



Table 4.3. 	
                Learning Outcomes
              
	
                (LOs)
              
	
                LO 4
              
	Entrepreneurial Knowledge and SkillsThe learner will be capable of demonstrating entrepreneurial knowledge, skills and attitudes.
	
                Assessment Standards(ASs)
              
	
                We know this when the learner:
              
	4.1 identifies financial institutions and organisations promoting entrepreneurship;
	4.2 discusses different ideas for starting a business (including ideas to attract tourists, franchising);
	4.3 differentiates between the forms of ownership in both the informal and the formal sectors (sole ownership, close corporation);
	4.4 evaluates the financial viability of a business (e.g. initial costs, production costs, sales and profit); and
	4.5 engages in a business activity that involves purchasing, production and marketing (should involve financing of business with own or borrowed capital – e.g. bank overdraft).



Memorandum



 ACTIVITY 1
 Spend sufficient time on this activity. Encourage the learners to work thoroughly right from the very first exercise. They must really go out and get information about the business that they have chosen, and they shouldn’t simply think it all up on their own.
 In the section on creative thought the learners must be given enough time to consider examples thoroughly.
 Their description of their own business idea must be checked carefully and these ideas must be discussed with them so that they can serve as basis for the work in Activity 3.
 ACTIVITY 2
 This activity is the core of the module, but can only be done successfully if Activity 2 was done properly.
 Testing the viability of the business idea allows the learner to deal with important concepts in the field of financial business management and you must make sure that they fully understand the concepts. The difference between product costs and operational costs and the meaning of gross profit must be fully understood. If the product cost is too high in relation to the selling price, the gross profit will be too low for 
 the entrepreneur to be able to afford essential operational necessities such as salaries and marketing.
 The examples in the module can be used to check whether the learners’ calculations are correct.


4.4. How do I finance my business?*
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How do i finance my business?



ACTIVITY 1: 



 

        

To discuss the financing of a business idea.



 

        

[LO 4.1]



 

        





 You have developed a business plan for your business idea now and it appears that everything is going to work out well. But have you thought about where you are going to get the money to finance the product development until the sales start generating money?
 ASSIGNMENT:
 1. Read the following article again. Write down how Slabbert financed his business and what his advice is to other entrepreneurs.
 2. Do some research to determine which institutions Slabbert could have approached for financial assistance. Hint: Think further than banks: the South African government regards the development of small businesses as being very important.
 An entrepreneur’s story of a difficult start in a grimy butchery
 “WORK YOUR FINGERS TO THE BONE”
 “My success came after I had worked my fingers to the bone and because I never became greedy.”
 This is the secret of Mr Leon Slabbert, owner of the Cuyler Butchery in Uitenhage.
 After finishing his schooling, Mr Slabbert obtained a degree in personnel management. He then worked in his father, Levi’s, butchery for ten years.
 “My father is a perfectionist and therefore he is very particular about tidiness, quality and service. He taught me all about the select cuts and everything else I know. Thanks to him I am a disciplined person,” says Slabbert.
 In August 1988 he decided: “Nothing ventured, nothing gained.” He sold his house and most of his other possessions and bought the Cuyler Butchery, which at that time was grubby and shabby. 
 Slabbert found it difficult to get loans from the banks, because he had no insurance. Some of his creditors showed him some mercy, but others simply had to wait for him to make enough money to pay them. 
 In the early nineties the political situation in the country influenced many people and businesses and Slabbert had to keep his head above water despite various threats. “In the first 
 five years I just had to do crisis control most of the time to keep my business going. Competitors didn’t make it any easier for me to get my business to grow, and I had to do everything in my power in order to survive,” he says.
 “Those were difficult years. I started with three staff members and did all the administration, daily chores and cutting of the meat. I had to make the sausages on my own. I also scrubbed the floors. 
 “I did not even have a proper cash flow that I could use for change and a friend lent me a lorry with which to transport my meat. A car was out of the question. There was no money for petrol and I had to walk to work. My wife, Wilhma, was the owner of a hairdressing salon and she also had to work overtime to get her own business going,” says Slabbert.
 His wife is now a director of the butchery and owns shares in it.
 “Besides being in control of the administration of the business I am involved in every aspect of the butchery, from washing floors to cutting up meat.
 “I was a hairdresser for 18 years and I found it difficult to give up this work, but my husband needed me and I supported him,” she says.
 She regards her husband as being very honest and straightforward, and says that he has self-respect and respect for his fellowmen.
 “All of these are qualities that have contributed to his success. He knows the meat industry and if he knows that lamb is going to be cheaper next week, he will not allow a customer to buy a whole lamb now, when it is more expensive,” she says by way of an example of his attitude towards his clients.
 His hard work from the start was not without its rewards and within the first three months he had doubled the previous owner’s turnover. A year later he had fully repaid his debts to both the bank and his father and was still satisfied to make do with a meagre monthly salary.
 ”One of the most important reasons for the success of my enterprise is that I am honest towards my clients. That makes them trust me. I am also honest towards my employees and I pay them well.
 ”I reinvested my surplus in my business and bought machinery, a bakkie and larger refrigerators,” Slabbert recounts.
 He built a house for which he paid cash and never incurred any debt again. In 1996 he bought his own building and presently provides employment for 45 people. During the festive seasons he needs more staff, because his products are in great demand.
 “If you look after your people, they will look after you. I get offers of meat from all over the country because my butchery has such a good reputation,” says Slabbert.
 At present Slabbert is building his own factory where he will process his meat. He is already a bulk supplier to local supermarkets and various butcheries as well as to other smaller shops.
 “Besides the fact that you have to be tough and resourceful when you start your own business, there are also other factors that must be taken into account. It isn’t really a good idea to borrow money, because your debt simply doubles with all the interest you have to pay. 
 “My advice to beginners would be to start off a business with a large investor who can be trusted. The alternative, if you have no money, is to start small, as I did. To start on a smaller scale is more difficult, but in the end you are your own king.”
 (Source: Die Burger, 5 July 2003 - translated)


Assessment



Table 4.4. 	
                Learning Outcomes
              
	
                (LOs)
              
	
                LO 4
              
	Entrepreneurial Knowledge and SkillsThe learner will be capable of demonstrating entrepreneurial knowledge, skills and attitudes.
	
                Assessment Standards(ASs)
              
	
                We know this when the learner:
              
	4.1 identifies financial institutions and organisations promoting entrepreneurship;
	4.2 discusses different ideas for starting a business (including ideas to attract tourists, franchising);
	4.3 differentiates between the forms of ownership in both the informal and the formal sectors (sole ownership, close corporation);
	4.4 evaluates the financial viability of a business (e.g. initial costs, production costs, sales and profit); and
	4.5 engages in a business activity that involves purchasing, production and marketing (should involve financing of business with own or borrowed capital – e.g. bank overdraft).



Memorandum



 ACTIVITY 1 
 ASSIGNMENT
 	Sold possessions:



 Borrowed bakkie.
 Wife’s income.
 Loan from father.
 Bank loans.
 	Banks:



 Large concerns.
 Foundations such as that of Mark Shuttleworth.
 Department of Trade and Industry.
 State-financed structures.


Solutions
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